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PART - | : PHYSICS

1.

An electromagnetic radiation has an energy 14.4
eV. To which region of electromagnetic spectrum
does it belong?

(1) Ultraviolet region
(2) Visible region

(3) X-ray region

(4) v -ray region

An electron beam is moving near to a conducting
loop then the induced current in the loop :-

< ¢
(1) Clockwise
(2) Anti clockwise
(3) Both
(4) No current

A particle executes S.H.M. with a period of 6
second and amplitude of 3 cm. Its maximum speed
in cm/sec is :

() =12 2 =

3) 2« 4 37

Two non-reactive monoatomic ideal gases have
their atomic masses in the ratio 2 : 3. The ratio of
their partial pressures, when enclosed in a vessel
kept at a constant temperature, is 4 : 3. The ratio of
their densities is:

(1) 1:4 2)1:2

3)6:9 4 8:9

In single slit diffraction, the phase difference
between the Huygen's wavelet from the edge of the

slit and the wavelet from the mid point of the slit
for first maxima.

(1) 27 radian
(2) rradian

S
3) £
3) >
3
2

radian

radian

“

1.

g dgagadl fafevor @ oot 144 eV B TR
fegd e Wagd & &g eF 9 9dfda 2—

ORHEURIEE]
(2) GeTAM &
(3) XX &=
4) y=X a4

U Selaed Yol U dTedd o & Mdbe I B
RE T A U H URa gRI—

e O
—e >
(1) <feromed
(2) e
(3) <
(4) B3 gRT B
TP HUT 6 Hbs B MAddld 3R 3 cm & IMAH B

1 S.HM. fFeifed &xar © | 9 /Jdhs | sad!
JfepaH =T o—

(1) =/2 2) =
(3) 2z 4 37
q IR—ufdfhariid geuREme oneel AWl @
URHTY] GRMM HT agurd 2:3 8 | Rer aome w—
R gl H S IMRIP IdTEl BT AU 4:3 2 |

SP T BT AJUTT 28—

(1) 1:4 @) 1:2

3)6:9 “4) 8:9

U f3R1 faaa 4, 31 & fHaR & qor B3R &
FHIaR BT, Al J Ifeass a7 @1 28—

(1) 27 radian

(2) mradian

5z
(3) >

3
2

radian

radian

“4)
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A free neutron decays to a proton but a free proton
does not decay to a neutron. This is because

(1) neutron is a composite particle made of a
proton and an electron whereas proton is
fundamental particle

(2) neutron is an uncharged particle whereas
proton is a charged particle

(3) neutron has larger rest mass than the proton

(4) weak forces can operate in a neutron but not in
a proton.

Two metal wires of identical dimensions are

connected in parallel. If p; and p, are the

resistivity of the metal wires respectively, the
effective resistivity of the combination is :-

2
(1) Al @ pte
PLt P2
+
3) _PiP2 (4) Pt P2
PLT P2 21,

Calculate the de Broglie wavelength of electron of
kinetic energy 200 eV (mass = 1x10~ kg, charge

=1.6x1071°C, planks constant h =6.6x103*Js)
(1) 9.60x10 1t m

(2) 8.25x10Mm
(3) 6.25x107"'m
(4) 5.00x10m

In a pure capacitive circuit, if the frequency is
doubled, what happens to the capacitive reactance
and the current?

(1) Capacitive reactance is halved, the current is
doubled

(2) Capacitive reactance is doubled, the current is
halved

(3) Capacitive reactance and the current both are
halved

(4) Capacitive reactance and the current both are
doubled

Udh Jad ggi Y Ul § & Bl 2 offdd U
qad WIS U g W e e g ¥ v
ST & lfh—

(1) ="EH UF UIeH AR U gelagd 4 991 U
AT HUT 8 ST WS Jod ol 2 |
(2)?@’@&@?@?@%@%%@@%

DUl T |
(3) A H UISH Bl o1 | 1 faRM g
Il § |
(4) PHGIR g1 g H HH IR Fdhd g offdhd
g # 78 |
A a4l & 31 O1g @ IR GHFIR H S 8¢
g1 MR p AR p, P G S AR DI
URRRIGAT 8, FATS & FATd FfoRTeddr g—

2
) “PP2

(2) p+p
P+ P2 2
3) P1P2 4 Pt 0
Pt Pr 210,

200 eV @I TS ol & Solded &1 S §ivell
aRIRed B UET BN (GH E =1x10 P kg,
SIEN =1.6x10°C i IRRGIEY
h=6.6x10"*Js):-
(1) 9.60 x10 ' m

(2) 8.25x10 "'m
(3) 6.25x10 ' m

(4) 5.00x10*'m

dae W= gad uiRue H, afe smghy SR &R
& WY, | iR UfdETd 9o gRT WR T yuTdg
Jedl &—

(1) enReiia gfcramd e TI1 &RT AT 81 STgE |
(2) TR UfETa SR[AT 81 AT 2, ORT S 8
ST ®

(3) aTReirg gferere 3fR aRT <1 Ml 81 Sl @
(4) aTiRera gfereamd 3R ORT ST R &1 oIl @
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10.

11.

12.

13.

14.

Two charges proton and « -particle are projected
perpendicularly in uniform transverse magnetic
field of strength 'B' and '2B' respectively in such a
way that their radii of circular tracks are equal. Find
ratio of their kinetic energy :-

1) 1:4 2) 2:4
3) 1:5 4 1:6
A telescope consisting of objective of focal length
50 cm and a single lens eye piece of focal length 5

cm is focused at a distant object in such a way that
parallel rays emerge from the eye piece. If the

object subtends an angle of 2° at the objective,
then angular width of image will be.

(1) 20° () 24

(3) 50° (4) 1/6

For intensity I of a light of wavelength 5000A the
photo saturation current is 0.40uA and stopping
potential is 1.36 V, the work function of metal is :-
(1) 247 eV (2) 1.36eV

(3) 1.10eV (4) 043 eV

The Young's modulus of brass and steel are

respectively 1x10° N/m? and 2x10"° N/m?. A
brass wire and a steel wire of the same length are
extended by 1 mm under the same force; the radii
of brass and steel wires are Rg and Rg

respectively. Then :-

R
1) Rg=+2R 2) Rg=—B
( ) S B ( ) S \/E
Rg
A vector which is  perpendicular  to

(acos@i+ bsin&]) is :-

(N bsin&i—acos@]

2) lsinéﬁ—lcosej
a b

(3) 5k

(4) All of these

10.

11.

12.

13.

14.

a1 ARG BT e 3R o -Poll Bl HA; 'B'
3R "2B' & UHHAM JIUR GadbII &3 H Fdaq
qu@ﬁamw%‘ﬁsmiﬁaq@ﬁ
B YN SRR B | D] TlaS ol B

U =T BHIFSTY—

(1) 1: 4 (2) 2: 4
3) 1:5 4) 1: 6
qredll H, g &1 Bied g 50 cm AR AT

DI BIHA G 5cm 8, I §R DI I DI 59 YR

et 21 aft avg eifigegs w® 27 &1 o
9T 99 yfafde 31 drofig e gef-

(1) 20° () 24

(3) 50° (4) 1/6°

5000A & TRITREd & 1 YT BT digal & foTg Wier
HIW gRT 0.40uA 2 3R FREN fva 136 V g,
T BT B Bl AT B

(1) 2.47 eV () 1.36 eV

(3) 1.10 eV (4) 043 eV

qide SR Wil & I YIRS O  HH:

1x10"° N/ m? 3iR 2x10°N/m? | T diad &
TR 3R WHH ¢dis & Udh Il & dR bl a1+
9 @ d8d | mm SR Sl ®; didd iR e
& Rl @ 559 HHE: Ry IR Rg B, d9—

R
(1) Rs=v2Rz  (2) RS=T§
(3) Rs=4Rg 4) RS:E

4

i (acosdi+bsing])) & oiedd wee gN

@8] bsin@?—acos@]

(2) 1sin¢9?—1cos¢9]
a b

(3) 5k
(4) SURIAT w4
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15.

16.

17.

A string is wrapped around the rim of a wheel of
moment of inertia 0.20kg —m? and radius 20 cm.

The wheel is free to rotate about its axis and
initially the wheel is at rest. The string is now pulled
by a force of 20 N. The angular velocity of the
wheel after 5 seconds will be:-

20N

(1) 90 rad/s
(2) 70 rad/s
(3) 95 rad/s
(4) 100 rad/s

A satellite orbits around the earth in a circular orbit
with a speed v and orbital radius 7. If it loses some
energy, then v and » changes as :-

(1) v decreases and 7 increases

(2) both v and r decreases

(3) vincreases and  decreases

(4) both v and r increases

The position vector R of a particle as a function of
time is given by :-

R = 4sin(27t)i + 4cos(27t) |

Where R is in meters, ¢ is in seconds and | and |

denote unit vectors along x and y-directions
respectively. Which one of the following
statements is wrong for the motion of this particle?

(1) Path of the particle is a circle of radius 4 meter

(2) Acceleration vector is along —R
2

. . .V
(3) Magnitude of acceleration vector is Y where
v is the velocity of particle.

(4) Magnitude of the velocity of particle is 8
meter/second

15.

16.

17.

0.20kg —m?STed & meel derr 20 cm Bear &
ufed & RA & IRI 3R T SR oucl Il § |
[ IR g & forg wads ®
W | SR 3@ 20 N T
| 5APs & d1e UfeAT BT BV

20N

(1) 90 rad/s
(2) 70 rad/s
(3) 95 rad/s
(4) 100 rad/s

T SUUE U v O AT ~ BT & UP MeaR
@eT H gl & ARI MR URBAT dHrar ¥ AR Ig
@W@éﬂ?,ﬁvﬁ?rﬁmm—

(D) vEIEFIT%}Sﬁ—\’r?{f?&'

(2) <M1 v 3R TESTAT

(3) vag Wl & 8RR »ECT

(4)Eﬁ7ﬁv3ﬁ'\’ rﬂ'ﬁ&'

el Bur @ Rerd AfRe R 990 @& B & w9
H =1 gRT a1 S g

R = 4sin(27t)i + 4cos(2rt) ]

el R¥Iex ¥ B, ¢ Ads A € 3R i 3R | B x
qer y feem # sa1E afesr &1 Fefig oxd 21 39

B BI G B forv =fRad § 9 dia«r wd
el 872

(1) BT &7 TF 4 Hex BT &7 ¢ g 2
(2) @RoT Afeer @ fewr —R 6 fesm # @

(3)Wﬂﬁﬂa7rtrﬁnm\;—2mvwwaw

2|
(4) BT B AT BT GRATT § Hex /APS &

Space for rough work
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18.

19.

20.

21.

22.

A string vibrates in 5 segments to a frequency of
480 Hz. The frequency that will cause it vibrate in
2 segments will be :-

(1) 96 Hz (2) 192 Hz
(3) 1200 Hz (4) 2400 Hz
Assertion : Torque on a body may be non-zero

even if net force acting on it is zero.

Reason : Force does not depend on point of
application, but torque depends on point of
application.

(1) If both Assertion & Reason are True & the
Reason is a correct explanation of the
Assertion.

(2) Ifboth Assertion & Reason are True but Reason
is not a correct explanation of the Assertion.

(3) If Assertion is True but the Reason is False.

(4) If both Assertion & Reason are False.

One kg of a diatomic gas is at a pressure of
8x10*Nm™2. The density of the gas is 4kg m=.
What is the energy of the gas due to its thermal
motion?

(1) 6x10*J (2) 7x10*J

(3) 3x10*J (4) 5x10%J

A block slides down on an inclined surface of

inclination 30° with the horizontal. Starting from
rest it covers 8 meter in the first two seconds. The

coefficient of friction is (g =10 ms 2 ) :-

1 1
(1) 5B ) 2%

1 3
3) 5 @ &

A car is moving on a circular road of diameter 50 m
with a speed 5ms 1. It is suddenly accelerated at a

rate 1ms~2. If its mass is 500 kg, net force acting
on the car is :-

(1) 500N
(3) 500v2 N

(2) 1000 N
(4) 500/+2N

18.

19.

20.

21.

22.

e R 5 @Sl § 480 Hz &1 JMGRT A HUT Bl
2| 99 IE 2 TSl H HUA P a9 sHD! MR
e

(1) 96 Hz (2) 192 Hz

(3) 1200 Hz (4) 2400 Hz

HU: 5l I R W ATl qeTeui R 8l
HHAT © TG 39 W S dTell IR a6
gl

PR : 9 a1 fdg R iR 781 a=all &, o
amept fhar fig W R avar 2|

(1) IfT B R BRT ST I & R BRI
FHUF P FEl ARAT % |

(2) Ife FHUF AR BRI S T & Afh BRI
B DY WL AT T 2 |

(3) fe P A T Afhd BRI 3N &

(4) I BT AR BRU ST I B

TP fdhell fguR] 9 @l <19 8x10*Nm™2 2| ¥
BT Tcd & dkgm™ AT T & BRUT A B
Sl T T

(1) 6x10*J (2) 7x10*]

(3) 3x10*J (4) 5x10*J

T IehT 30° &feT | gD §Y A9 I W Ao

T & | foRmreaRe & 1 o UgH 2 Ahs H T8
8 Hiex &1 g T PRI © | TN UIh I A

B8R (g=10ms2) :-

1 1
iy = .
()5J§ ()2J§

1 3
3) = 4) X2
()\/§ ()5

Uh HR 50 m G el Teb TTlThR Fedh U
5ms™t &I T | T BT 2| IE I[AED Th THMH

R Ims™ W @RT 8 AT © | AFQ SHBT SIAN
500 kg B, @1 BR R T dTell ol g1 R 23—

(1) 500N (2) 1000 N
(3) 5002 N (4) 500/2N

Space for rough work
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23. Anideal refrigerator has a freezer at a temperature | 23, ©a aneef YfhoRexr § WioR &1 agdE —13°C
of —13°C. The coefficient of performance of the BIaT & | IfhoNey BT UgeT &l T h 5% | BT BT
refrigerator is 5. The temperature of the air (to dIoHE T 8T (f%;m W SH Fsp1lRra &7 el
which heat is rejected) will be :- 2)—

(1) 325°C (2) 325K (1) 325°C (2) 325K
(3) 39°C (4) 320°C (3) 39°C (4) 320°C

24. A gas specimen in one vessel is expanded | 24, v §ddq H UH N B T BT 5D AT B
isothermally to double its volume and a similar asﬂl;” A B o wEarh w7 ¥ RaiRa fpar
specimen in the second wvessel is expanded T 2 QiR W 8T ¥ v qHE T B SETH
adiabatically to the same extent, then : S0 X arued @1 S s g% feaRa B
(1) In the second vessel, both final pressure and ST & d—

ork done are more ' . :
v . (1) R ur= #, 3ifod <9 IR fovar 731 &t <=1
(2) In the second vessel, final pressure is more, but aRF B 2|
the work done is less.
(2) R U H, 3ifow <@ afde grar 7, oA
(3) In the first vessel, both final pressure & work ; > ENN
done are more. Uy _ i ! . .
(4) In the first vessel, final pressure is more, but (3) Ugel U ﬁ BT TN BT FAT Sifer I19 Sl
work done is less SIECA

25. Aballis dropped from a height of 80 m ona ground. (4) Ugel U H, Sffcw < arferenr BT 8, offb
Find the height attained by the ball after 2" ST AT BRI HH BT ¢ |
collision, if coefficient of restitution, e is 0.5 :- 25. U& g &I 80 m Bl SAE A 9 IR FRMET S1ar
(1) 5m (2) 10m 2| SN CFPR D 98 Ve §RT UK Has A
(3) 40 m (4) 80m DI, AT JATTIA T e = 0.5 3—

26. A sphere P of mass m and velocity Vi undergoes an (1) Sm (2) 10m
oblique and perfectly elastic collision with an (3) 40 m (4) 80m
identical sphere Q.lpltlally at rest. The angle 6 26. TP el P RGBT S| m 3R 9T vl 21 e
between the velocities of the spheres after the = el Q¥ B @R EI;U‘r OIS cdg dred]
collistofiFhal |G- £ URY A e Q RRMEReT ¥ & Hug @ d1g
(1 o (2) 45 Q1 Ml & I D dE BT 0 BRT—

(3) 90° (4) 180° (1) 0 (2) 45
(3) 90° (4) 180°

27. Water rises to height of 2 an in a vertical capillary 27. TR BT eq F 9 2 om & ST I 9%
tube. If the tube is tilted 30 from horizontal then ST 2| AR SR AT ¥ 30° @ BT W 3@2}%
water will rise in the tube to a length : E_sg 3| 99 R A Ta N T B
() 4:m (2) 2em (1) 4cm (2) 2cm
3) ﬁcm (4) Tem 3) %cm 4) 1em

Space for rough work
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28.

29.

30.

31.

32.

The coefficient of volume expansion of a liquid is
49x107° / K. Calculate the fractional change in its
density when the temperature is raised by 30°C.

(1) 7.5%x1073 (2) 3.0x1073
(3) 1.47x1072 (4) 1.1x1073

A zener diode having breakdown voltage equal to
10V, is used in a voltage regulator circuit shown in
figure. The current flowing through the diode is:

200Q2
+ v
15V 10V 1kQ
(1) 10 mA 2) 5mA
(3) 15mA (4) 20 mA

The apparent depth of a needle lying at the bottom
of the tank, which is filled with water of refractive
index 1.33 to a height of 12.5 cm is measured by a
microscope to be 9.4 cm. If water is replaced by a
liquid of refractive index 1.5 upto the same height.
What distance would the microscope have to be
moved to focus on the needle again ?

(1) 1.1 cm (2) 2.13 cm
(3) 3.1cm (4) 4.15cm

What is the current through an ideal PN -junction
diode shown in figure below :-

_ 100Q [

T To
(1) zero (2) 10 mA
(3) 20 mA (4) 50 mA

Two spherical bodies A (radius 6 cm ) and B (radius
18 cm ) are at temperature T; and T, , respectively.
The maximum intensity in the emission spectrum
of A is at 500 nm and in that of B is at 1500 nm.
Considering them to be black bodies, what will be
the ratio of the rate of total energy radiated by A to
that of B ?

(1) 1
3) 6

@) 3
4 9

28.

29.

30.

31.

32.

TH Wl @ IMIAT UER BT e &I AN
49%107° /K| 9 d9E= 30°C IS/ WIdT g,
al 59 U9 § e uRdds &Y T BN,
(1) 7.5x1073 (2) 3.0x1073

(3) 1.47x1072 (4) 1.1x1073

T SR TS RTE®T Wo dieedl 10 V& a_TaR
2, BT ST o § g9 U aieedr e aRuer
¥ frar Siar 2 | SIS § g8 grell 9N 8—

2002
+ \ 4
15V 10V 1kQ
(1) 10 mA (2) 5mA
(3) 15mA @) 20 mA

Udh Sh H 1.33 Uad=id BT 5 12.5 cm BT HaATS
TP WI 2| b & Il 4 U s ©, oraa! Rl
TERTs geAasll 3 J97 W 9.4 cm B | AT ST Bl
FAF $HA8 db fUaaid 1.5 gd I uforenfuq
fpar U iR g8 WR Y gedsel &l dfad fbar
Y a9 gereeil @l fhadl g1 faRenfua &=Ar
TGP

(1) 1.1 cm (2) 2.13cm

(3) 3.1 cm (4) 4.15 cm

A qeit v ffE # efeel PN -SiwRM SHie ¥
faea o Fr 32—

}

B 1000 B
Tiv T

(1) = 2) 10 mA

(3) 20 mA (4) 50 mA

QI MTdR S A (6 cm 3537) 3R B (18 cm 3r=m)
T R E T, 3R T, FAMER & | A D Il
WaeH H fddpad digdr 500 nm R & IR B H
1500 nm & | AT $° HWIOMGT AFC &, al AR
B gRI fdRd |l ol @l &R &1 fgurd @1
-
(H1
(3) 6

2 3
49
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33.

34.

35.

A pendulum clock is 5 sec fast at temperature of
15°C and 10 seconds slow at a temperature of

30°C. At what temperature does it give the correct
time?

(1) 18°C
(2) 20°C
(3) 22°Cc
(4) 25°C

In the following circuit, the output Y for all possible
inputs A and B is expressed by the truth table :-

=
-

P OFPrP OW P O PFP O W T»

A B Y A B 'Y
0 0 O 0 0 1
(1) o 1 0 20 1 1
1 0 O 1 0 1
1 1 1 11 0
A BY A B Y
0 0 1 0 0 O
3 0 1 0 4 0 1 1
1 0 O 1 0 1
1 1 0 1 1 1

The ratio of the velocity of sound in hydrogen
(y=715) to that in helium (y=5/3) at the same

temperature is.

o 2
) (

(3) -

33.

34.

35.

Udh ollcld TSl 15 C dad W) 5 Idhe oo ©

3R 30°C drEE R 10 e 4T fog araar «®
Ig e 99y T 87

(1) 18°C
(2) 20°C
(3) 22°C
(4) 25°C
ffoRad aRuer & vt wwifad sge AR B

% oY AFTYS Y 1 I AMMThT §RT e (b
ST 8-

!

(M 2

3) 4

P P, OO0 P> B B O o >
oOFr OW r OFr ow
P P o <X O Fr k<

P B OO > B B o o >
o oo kr X P oo o <

[EEY
[EEN

e BI ATl BT BISSlo (y=7/5) T Siferm
(y=5/3) % T & AU WR AU SHT—

(M \/E
) \/7

CRC
“i

Space for rough work
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36.

37.

38.

A zener diode is to be used as a voltage regulator.

Identify the correct set up -
R-:
b —AAN—

) X R

“4)

Assertion :- P-type semiconductor is positively

charged.

Reason

charged.

(1) Both assertion & reason are true & the reason
is a correct explanation of the assertion.

(2) Both assertion & reason are true but reason is
not a correct explanation of the assertion.

(3) Assertion is true but the reason is false.

(4) Both assertion & reason are false.

The I-V characteristic of a p-n junction diode is

shown in figure. Find the approximate dynamic

resistance of the p-n junction when a forward bias

of 1 volt is applied -

:- N-type semiconductor is negatively

I(mA)

P ————

400 -

15}

o f

12 252,1 Vivelo

(1) 20Q 2) 40Q
3) 110 4) 1550

36.

37.

38.

Udh SR SIS DI SUINT dlecyl Ir'\'léll"lcb E% Xoq
T fhar ST 2 FE1 We 319 B ugeT di—

R-:
F—AAN—

(M K R

(4)

P :- P-UBR ATATAD EFTHS ST BTl %\r|

grw - N-UhR 3efareld FKOMHS MMARE B

|

(1) BT IR BRI THI T © IR BRI HAT
BT FEl IR T |

(2) BT R BRI T TH & Al BRI HAT
@ el AR T8 & |

(3) I FI © 3MR AT BRI eRTY T |

(4) BIT FR HRT QT TAT 2 |

p-n G SRS &7 -V ifWeneafOms o # gurian

T % | p-n W &1 AT Tfoefie ufori ara

DINTT 19 1 diec BT 3R IR AT ST &—

I(mA)

bi{1[)] S

400

15}...

H -
R RN

(1) 20Q 2) 400

3) 110 (4) 15.5Q
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39.

40.

41.

42.

In an experiment with a beam balance an unknown
mass m is balanced by two known masses of 16 kg
and 4 kg as shown in figure.

1, 1,

| 6ka | m
I, A

bld =
L)
m “;;;;;;E'

Find the value of the unknown mass m in kg.

(1) 2 kg (2) 4kg

(3) 8kg (4) 12 kg

A solid sphere, a hollow sphere and a disc, all
having same mass and radius are placed at the top
of an smooth incline and released. Least time will
be taken in reaching the bottom by :-

(1) the solid sphere

(2) the hollow sphere

(3) the disc

(4) all will take same time

4 kg

2
A particle moves along a circle of radius (—ij
T

with constant tangential acceleration. If the velocity
of the particle is 80m/s at the end of the second
revolution after motion has begun, the tangential
acceleration is :-

(1) 40m/s? (2) 640mm/s?

(3) 160m /s> (4) 40mm/s?

A particle is performing vertical circular motion
with the help of a string of length ' ¢ '. What should
be the minimum speed at lowest position so that it
can complete vertical circular motion :-

(1) 2,/59¢ (2) 10g/
(3) /59¢ (4) None

39.

40.

41.

42.

RG] & G TAN H TP ST GHT m DI
16kg 3R 4 kg & QT S SAMT §RT Aford fdbaT
ST g o s o | e a5

l, 1,

“':::::::' m

4 kg

3T T&@HM m &I A4 el § sia sif—

(1) 2kg (2) 4kg

(3) 8kg (4) 12kg

T S TTell, U WRIAT TMell 3R T fSwh, It
A G 3R Broar arer W B ud fader

A YHE B WY W @ offal & SR Bie faar
ST & | - 0% Uga | HH H HH 9T RT—

(1) ST e

(2) @RI e

3) e

(4) 91 31 TP & FHI I
WW(E
T

BT BT TRNERY RO AT 2| A YH B D

ST TFDpY G DT BT T 80m/s B | T B B
TR FIHPR B 3T H RGN TROT BT AT ERT—

(1) 40m/s? (2) 640mm/s?

(3) 160mm/s? (4) 40rm/s?

T BT '/ A4l DI U SR Pl AGe I HEAER
T T PR @ 2| A B e # wor
BT YATH AT T BAI ALY dAlfh I8 Hedler
TR TRA DI G B Fob—

(1) 2/59¢ (2) 109/
3) g’ 4) I3

Jm 501 & Th g9 W FoAdm B |
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43.

44.

45.

The escape velocity is 11 km/s at the surface of the
earth. If the planet have radius twice of the earth
and equal density as earth then the escape velocity
at the surface of the planet is :-

(1) 11 km/s (2) 22 km/s
(3) 5.5 km/s (4) 2.25 km/s

If magnitude of vector addition of two unit vectors
is 2 units then magnitude of their vector difference
is:

(1) 3

21
30 2
A particle is moving with  velocity

V= (4t3 +3t? —1)m /s. The displacement of
particle in time t = 1sec to t = 2 sec will be :-

(1) 21 m 2) 17m

3) 13m 4) 9m

43.

44.

45.

TS 9 YAl B [ag W 11 km/s 81 IS U8
o1 251 gedl &1 T © SR B gedl & AT
g, A U8 P! T8 W YT 9T R 27?

(1) 11 km/s (2) 22 km/s

(3) 5.5 km/s (4) 2.25 km/s

I g1 g1 Afeel & AR IRT &1 gRHATT 2
ghIS B, Al S TS AR BT GRHOT R &—
(1) 3 2 1

3)0 4 2

TP BT v=(4t3+3t2—1)m/s X7 A TR FR <@
TIOTT t=1secHt=2secH P BT e
BIT—
(1) 21'm
(3) 13m

(2) 17m
4) 9m

Space for rough work
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PART - 1l : CHEMISTRY

46.

47.

48.

49.

50.

1-Bromo-4-sec. butyl-2-methyl benzene is:

Br
CHz Br
CHs
(D I-];.(“--({'-CI—I; (2)  cHs-cH-CH;
CH3 (1'11_1
Br Br
CH3 CH;

3) @" @
CH3-CH-CH>-CH;s CHa-CH3-CH>-CH;

Correct order of boiling point is

(a) 1-chloropropane

(b) iso-propyl chloride

(c) 1-chlorobutane

(I) c>b>a

(3) a>b>c

(2)c>a>b
4 b>a>c
. (1) () Xis

I ,
X 'H3—C<CH; + Ph-OH
I I:ii:rizcmr CH3—C-CH; + Ph-O

: CH> CH:
(1 EE Sc=cHrpn @)

0
3) @,3!4:1-1«\

Statement-I: The reaction of phenol with acid
chloride is carried out in presence of a base
(pyridine) so as to neutralise HCI, which is formed
during the reaction.

Statement-II: Aspirin can be formed by the
acetylation of salicylic acid.

(1) Both Statement I and Statement 11 are incorrect.

(2) Statement I is correct but Statement II is
incorrect.

(3) Statement I is incorrect but Statement II is
correct.

(4) Both Statement I and Statement II are correct.

OCH;4
- Anhy AlCH :
———— Major product
+ CH3-Cl Cs, :

46.

47.

48.

49.

1-Bromo-4-sec. butyl-2-methyl 59 &:

Br
CH3s Br
CHs
(1) "17"?"(["“'13 ) cns -CJ'II- CHj
CH3 CHs
Br Br
- CHj CH3

G) @ )

CH3-CH-CH>—CH3 CH»-CH-CH-CHj3

FIUIDB BT FEl HH B
(a) 1-chloropropane
(b) iso-propyl chloride
(c) 1-chlorobutane
(1) c>b>a

(3) a>b>c

2)c>a>b
@) b>a>c

> , X T e?

I
X Hi—C— -
[ IEil)Ii:“.-’]l" CH;—C—CH; + Ph-OH

: CHy-CH3
(1) CH;~
CH,”

c=cn-ph @

H;C~

O
1l

PIT—L: T FARTSS & A1 il BT rfifhar
Uh &R (WSRSH) 31 SuRafa § &7 ol § aifes
HCIl &7 Serii= fbar & 9, S ififshar & SR
CRIS

FUE—IL TRaRa &1 fafor dfafifes sra @
vRafeeliaver gRT f&ar S \aar ¢ |

(1) BUF I R HUF 11 H1 Terd 2 |

(2) B [ W&l § olfdhd B 11 TTeld & |

(3) B I TTAd & oIfhd oA 11 Tl & |

(4) U 1 3R HF 11 T T 8 |

/CH;

Space for rough work
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51.

52.

53.

OCH;

OCH4
(1) @/CHs )
CH;
OCH;
OCH,4
3) ) C—CH,4
CH; &
Hy CH: H_ _CH;
C=C Heodls = )
HC” ey H%C/C C\C,ON;[ HX], Xis:
0 [l
(1) CHs—Cl (2) CHCl,
(3) CHCI; (4) CCly
Which of the following has lowest Pka value?
COOH
"OOH
(1) ) é
OCH3;
COOH COOH
© @ ) @
CH; NO;

An organic compound C3HsO forms an orange red
precipitate with 2,4-D.N.P. but it does not give
tollen’s test the compound is:

(1) 1
CH3-CH,-C-H
OH
@)
®.

'CH3—C—CHj3

(4) CHp=CH-CH;
OH

50.

51.

52.

53.

OCH;
- Anhy AlCH :
———— Major product
+CH3-Cl cs, |

OCH;
OCH;
(D @/CHB (2)
CH;
OCH;
OCH,4
3) @ ) C—CH,
CH, o
H CHs a0 H\ /CHS
c=C — o=
H;C” \||:| CH; Hzc/c C\C{,Na +HX], X &
(6] : [l
(1) CH5-Cl (2) CH:Cl,
(3) CHCI; (4) CCl4
f=faRad & & fdar Pka 99 9e &9 87
COOH
"OOH
(D (2) é
OCH3
COOH COOH
3 @ ) @
CH3 NOz

U deHe ATd C3HeO, 2,4-D.N.P. & A1 U
AR SITeT 31 §HIAT 8, <ifhd g STl URIeToT
&l <ar afte &
(1) i

CH3-CH>—C—H

OH

)

(4) CHy=CH-CH;
OH

Space for rough work
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5S.

56.

57.

O
NH2 ]
(CH;C0),0 NH-C-CHj3
—_—
Pyridine

—)H-NO3 /H,50. Major Product
288K

NH2

©

NO2

)

NH-C-CHj3

(2) No:
Il
NH-C-CHj3

(3) TN

0
NH-C-CH3

NO2
“
Glucose and Galactose are :-
(1) C-2-Epimers (2) C-1 Epimers
(3) C-3 Epimers (4) C-4 Epimers
The sodium fusion extract is boiled with iron (II)
sulphate and then acidified with concentrated
sulphuric acid. The formation of Prussian blue
colour confirm the presence of :-

(1) Sulphur (2) Phosphorus

(3) Nitrogen (4) Iodine

Condition which is not required for aromaticity?

(1) Planarity of ring.

(2) Complete delocalisation of the electrons in
the ring.

(3) Presence of (4n+2)m electrons in the ring
where n is an integer (n=0,1,2.......)

(4) Presence of 4nm electron in the ring where 'n' is
an integer.

54.

SS.

56.

57.

O

NH2 I
(CH;C0),0 NH-C-CHj

—_—
Pyridine

MMujor Product
288K

NH2

) ©

NO2

Il
NH-C-CH3

(2)
NO2

W
NH-C-CHj3

(3)
NO>
O
NH—ICI'—CH3
4) NO2

ST SR orere & —
(1) C-2 Epimers (2) C-1 Epimers

(3) C-3 Epimers (4) C-4 Epimers

AT Feldd 3% ®I e () dehe & A
AT ST B SR R Do ARSI &
A1 3l fbar SIer 2| uRmRm Al I BT
oo f=forRaa &1 SuRefa o gitc #ar 2 —

(1) TR (2) BIHRA
(3) ARSI (4) A=A
VT 9 S WESId & foIU sfaedd T8 =7

(1) \FHAS deld

(2) n goraeta BT ot fazeriamRoT

B3)(4n+2)n @ SuRAfd (n=0,1,2......dc0 H
sﬁﬂﬁ?a%mww%)

(4) 4ng @ SuRefa R # Seldg[ I8 'n' U&h
Ui B

Space for rough work
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58.

59.

60.

61.

62.

Assertion: The atomic size generally decreases
across a period.

Reason: It is because within the period, the outer
electrons are in the same valence shell and the
effective nuclear charge increases as the atomic
number increases resulting in the increased
attraction of electrons to the nucleus.

(1) Both Assertion and Reason are true but Reason
is NOT the correct explanation of Assertion.

(2) Assertion is true but Reason is false.
(3) Assertion is false but Reason is true.

(4) Both Assertion and Reason are true and Reason
is the correct explanation of Assertion.

Radii of noble gases should not be compared with
(1) Covalent radii of other elements.

(2) Vander wall radii of other elements.

(3) Ionic radii of other elements.

(4) (1) and (3) both.

Total no. of resonating structure of carbonate ion
and carbon dioxide respectively.

(1)3,0

(2)3,2

3)23

433

Which of the following is not correct order for
dipole moment?

(1) HF > HCI > HBr > HI

(2) H,O0>H,S>CO,

(3) CHCI, > CH,CI, > CH.CI
(4) CH,CI>CH,CI, >CHCI,

Which of the following will exhibit only +3
oxidation state?

Hv

(2) Th
(3)Ac
(4) Pa

58.

59.

60.

61.

62.

HYF: WA ATBR A dR W TP AGd § o
ST © |

PR VAT sAfY § Fifd mdd & HiaR, e
SOIaCT U &1 HASIHdT ST 3 8 & o gl
2 R gRvRasY geraedl &f F1fie & ufd
ATHYT g T B |

(1) ®IF MR HRU SHl T & Afhd HROT HAUH
D AL AT TE B |

(2) B TF g b BRI I B |
(3) HUF A & b BRI I B |

(4) ®IF AR HRU H TG 8 IR BRI HAT
P TS ARAT 2 |

ST ATfRe?

(1) 3 Tl & Fgadoid o |

(2) 3= cdl &l g} aredd 3T |

(3) 39 @@l @ AMAH o |

4) (1) 3R (3) T

Bl TN BEC ATTT SR Dl SISHFATSS DI
ST STl YT P |

(1)3,0

2)3,2

3)2,3

“4)3,3

fega smepf & fou f=fafed & & @9 @1 w8
H el 2°

(1) HF > HCI > HBr > Hi

(2) H,0>H,S>CO,

(3) CHCI, > CH,Cl, > CH,CI

(4) CH,CI >CH,Cl, > CHClI,

ffeRad § 9 @9 ®ad +3 IRITBROT el
yeRia Hwm?

1)V

(2) Th

(3) Ac

(4) Pa

Space for rough work
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63.

64.

65.

66.

67.

When dil. H,SO, is added to aqueous solution of

potassium chromate, yellow colour of solution
turns to orange colour. It indicates:

(1) Chromate ions are reduced.
(2) Chromate ions are oxidised.

(2) Monocentric complex is converted in to
dicentric complex.

(4) Oxygen gets removed from chromate ions.
Choose incorrect statement.

(1) Color of complex is complementary to that
which is absorbed.

(2) Color of [ Ti(H,0), ] “is violet.

(3) The crystal field theory attributes the color of
coordination compounds to d-d transition of the
electrones.

(4) Ruby is aluminium oxide (Al,O,)containing
about 0.5 to 1%Cr"*ions.

Which of the following is incorrect match?

(1) Pbl4 does not exist

(2) TlI3 does not exist

(3) SnO, amphoteric oxide

(4) H3PO., basicity =3

Statement-I: PH, has lower boiling point than

NH,.
Statement-I1: Unlike NH,,PH,molecules are not

associated through hydrogen bonding in liquid
state.

(1) Both Statement I and Statement II are incorrect.

(2) Statement I is correct but Statement II is
incorrect.

(3) Statement I is incorrect but Statement II is
correct.

(4) Both Statement I and Statement II are correct.

Which of the

minimum

following  has
electronegativity?
(1)B 2)Ga
3)In (4) Al

63.

64.

65.

66.

67.

S a9 H,SO,UcRigd »He & Sielid 91 |
e ST 7, °id &1 Uil T AR [T H 98
ST € | I8 ST PRl

(1) ¥ A= 3r9erRiid 8 O 2 |

(2) T I TR B € |

o N

() ANRIfes direa 1 fSfed diverad #
ged e e 2|

(4) P AT A SifRISH el Il 2 |

TAd B BT T DI |

(1) e & FT S & R & ol aeyd
BICT © |

@) [Ti(H,0),]" @1 % &h 2

(3) e &= Rigid Sudedd AffTal & 1
BT S FAGEAT D d-d FHAUT PI AT B |

(@) (AlLO,) mifore vephfras sifawrgs & for
ST 0.5 | 1%Cr* 3T |

frferRaa # & @9 A1 Terd e 87

(1) Pbly &1 R =&t & |

(2) Tll; BT SR &l B |

(3) SnO, IHIEHI IfTaATSS

(4) HiPO,, &R®dT =3

YT NH, ® Ja1 4 PH, &I Fald A

=

SYF-II NH,, &I T8 PH, & Y TRl el

# BRSO 9 @ WEIH A oS T8 2 |

(1) B 1 R HUF 11 SH1 Tead 2 |

(2) BT 1 el & olfhd B 11 TTeld = |

(3) U 1 Teld & il BT 11 Fel 7 |

(4) U9 1 R B 1 T T B |

= 7 9 e faggasrorar <gAa €°
(1)B (2) Ga
(3)In (4) Al
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68.

69.

70.

71.

List-I (Basic Radical)  List-II (Group)
(P) Pb*™? (i) VI group
(Q) Fe™ (ii) IV group
(R) Ni*? (iii) 1T group
(S) Mg*™ (iv) III group
P Q R S
Wi i i v
Qi v i i
G)yiv i i i
@i v i

Which of the following is correct?

(1) Ni < Cu < Zn (increasing size)

(2) Mn < Fe <Co (density)

(3) Sc*™®ion is colorless in aqueous medium.

(4) All are correct.

Assertion (A) : From the value of | ¥ * at different

points within an atom, it is possible to predict the

region around the nucleus where electron will most
probably be found.

Reason (R) : With the help of quantum mechanical

model of atom, exact position of an electron in an

atom can be determined.

(1) Both assertion and reason are correct and reason
is the correct explanation of assertion

(2) Both assertion and reason are correct but reason
is not the correct explanation of assertion

(3) Assertion is correct and reason is incorrect

(4) Both assertion and reason are incorrect

Which of the following statement is incorrect:

(1) The effect of Heisenberg uncertainty principle
is significant only for motion of microscopic
objects and is negligible for that of
macroscopic objects.

(2) In multi-electron atom, energies of the orbitals
in the same subshell decrease with increase in
the atomic number.

(3) Probability density |¥ |
meaning.

(4) The negative electronic energy for hydrogen
atom means that the energy of the electron in H

-atom is lower than the energy of a free electron
at rest.

has no physical

68.

69.

70.

71.

-1 @RE qa®)  gE-1 ()

(P) Pb*™ (1) VIaqe

(Q) Fe*? (i) IV 99g

(R) Ni*? (iii) II 998

(S) Mg™ (iv) I |98
P Q R S

(1) i il il v

(2) il iv il i

3) iv il il i

4) il iv i

feferRaa 5 & e &1 ?Tz?f 87

(1) Ni < Cu < Zn (d&dT ATHR)

(2) Mn < Fe < Co (g7)

(3) Sc** T STeirg AIeH H ATEA BT ¥ |

(4) 1 &1 T |

DU (A): PP D HE W U WA b AR

fafi= fdgell w® WE & oMU & &F @

HASErol AT g STel Soldgid ey I1fd®

YRIT AT |

PRI (R) : TRAN] & FdicH IS Alsel bl FeTIdl

A, Ub URAY] H Udh Seldgid @l Alp Refd

iR @ S dadt 2 |

(1) BT IR BRU Al FET & 3R HRT HAF
B TS AT

(2) U IR BRI I FEl 8 oAb HRUT HIH
D TS IR TEl B

(3) U Hel & 3R BRI TeAd &

(4) BUF IR BRI I TAT 2

frfeRad 9 &9 a1 $UF Tod ® -

(1) BTgoiad AMREA FHGIT BT I91d DHadt ged
TGSl B A b Y Azl 7 IR v
awgell @& for = 2 |

(2) Ig—Scldei URAY H U € SUBI H Hefhi
DI HOIU URAT] HAG H gl D AT "l
ST € |

(3) iiedT g9 | W 2 3AdT DIg Hifas 3ref gl
gl

(4) BESIOA URHIY & oIy FOTHD Seldg i
Foll @1 3fef 2 fb H -WRA] H gelage &
Foll faRMTEReIT H H7h gelag« Bl Holl | HH
2l
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72.

73.

74.

75.

Assertion: In Daniell cell, electrons flow from Zn
rod to Cu rod.

Reason: Zn rod acts as cathode and Cu rod acts as
anode in Daniell cell.

(1) Both Assertion & Reason are True but Reason
is a correct explanation of the Assertion.

(2) Both Assertion & Reason are True but Reason
is not a correct explanation of the Assertion.

(3) Assertion is True but the Reason is False.
(4) Both Assertion & Reason are False.
Which of the following statements is/are correct?

(1) Solution of bromoethane and chloroethane is an
ideal solution.

(2) Copper dissolved in gold is an example of solid
solution.

(3) The concentration of pollutants in water or
atmosphere is expressed in terms of ppm.

(4) All are correct.

Assertion: The probability that more than three
molecules taking part in a reaction can collide and
react simultaneously is very small.

Reason: For complex reaction, molecularity has no
meaning.

(1) Both Assertion & Reason are True & the Reason
is a correct explanation of the Assertion.

(2) Both Assertion & Reason are True but Reason
is not a correct explanation of the Assertion.

(3) Assertion is True but Reason is False.
(4) Both Assertion & Reason are False.
Which of the following is/are true?

(1) The osmotic pressure method is more useful
than other methods for determination of molar
masses of macromolecules.

(2) Magnitude of osmotic pressure is large even for
very dilute solutions.

(3) To avoid bends, the tanks used by scuba divers
are filled with air diluted with Helium.

(4) All are correct.

72.

73.

74.

75.

W:@WWﬁ,Wﬁ?ZnW@Cu"ﬁE

d® varfed 8 & |

PR STA Tl H Zn B DU b ©Y H B

BT & 3R Cu BS A8 & 97 § BRI HaT ¢ |

(1) B 3R BRI T & b BRI HAH
B S IR B |

(2) HIF AR HRU SHI T & Afhd HROT HAH
B L AT TE B |

(3) BUFT T & oifh BRI 3T & |

(4) P AR BRT T I B |

fr=falRad & & P9 BUF e 8 /87

(1) SHIPF IR FIRIZIT BT o= Udh ames
e &1

(2)?%ﬁgma@aﬁfﬁawmwwm

I

(3) STl AT IIgHSE W UGHBI B Aigdl Bl YIUIgH
@ ©Y H H fbar Siar 2 |

(4) 1 T 2 |

AT Udh AMIhAT H AT o drel a9 ¥ 31fd®

VR & UH AT SHIM SR AMfhAT HA Bl

HHTIAT 95T HH ¢ |

SR Sifee Afifhar & fog, smoifdsdr & g

e T8 7 |

(1) I IR BRI A I & AR BRI HIH
@ FEl IR T |

(2) BIF AR HRU THI T & olfchT BRI HAH
B L AT T8 € |

(3) PIT T & oAfh BRI Y ¢ |

(4) BT R HRUT ST AT ¢ |

fAfoRed & & d—arw v 8 /8?

(1) 988 Ui & AR MM & FURT & forg
IRIRYT <19 A 3 aRIpT 1 el # Afdew
SR 2 |

(2) URTHRYT &9 T YRATT 31 T faeral & fofg
Al 1fde BIaT 7 |

(3) Bends ¥ do & forg, wgal MARERI gRT
STINT fhy M aret St Bl BT | udel
PRD T HRT Tl 2 |
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76.

77.

78.

79.

The vapour pressure of pure liquids A and B are 450
and 700 mmHg respectively at 350 K. Calculate the
composition of vapour phase if total vapour
pressure is 600 mmHg .

(1) Y¥,=0.7,Y; =03

(2) Y¥,=06,Y,=04

(3) Y,=03Y;=07

4) Y,=04,Y,=06

Choose the correct option.

(A) Dil. H,SO, is added while preparing standard
solution of FeSO, . ( NH, ) , 50, toprevent the
hydrolysis of ferrous salt.

(B) KMnQ, acts as self indicator in redox titration.

(C) Calorimeter is used for determining enthalpy of
neutralization.

(D) 79 is the equivalent wt. of KMnQO, in alkaline
medium as an oxidant.

[mol. wt. of KMnO, =158]

(1) TTTF (2) FTFT

(3) FFFT (4) TFTF

Calculate the weight of

H,C,0,-2H,0(molwt. =126) require to make 500

mL of 0.2 N solution?
(1)3.6 gm (2) 6.3 gm
(3) 63 gm (4) 4.6 gm

Match the Column-I with Column-II
Column-I (Redox reaction)

(A) CH, +20, -»CO, +2H,0

(B) 2Fe+3H,0 > Fe,0, +3H,

(©) 2H,0—->2H,+0,

(D) S, +120H" —4S™ +2S,05 +6H,0
Column-II (Type of redox reaction)
(P) Decomposition reaction

(Q) Disproportionation reaction

(R) Displacement reaction

76.

77.

78.

79

(4) T |E 2|
YE TR A 3R B &1 a1 I@ 350 K WR HHET:

450 3R 700 mmHg % | IfC FT a4 I@ 600
mmHg 8 T a9 U & Hogcd &I IOl

BITY |

(1) Y, =0.7,Y, =0.3

(2) Y, =06,Y, =0.4

(3) Y, =0.3,Y, =0.7

4) Y, =04,Y, =06

el fahed &1 999 PINT |

(A) FeSO4(NH4);S04 BT AM® [Jetde dIR Hd
9 I H,SO, SIel Sl 8 BRA a0 &

BTSSRI BT b & 10 |

(B) KMnO, VEIdd 30 H ¥ Hbdd & WU
H B BT 2 |

(C) HARIHICR BT STANT SERIAIGIOT BT gt
FEiRa &1 @ fofv fHam Smar = |

(D)KMNnO, &T &R ArH ¥ TRIHRS d WU
H| goAiaT MR 79T |
[mol. wt. of KMnO, =158]

(1) TTTF (2) FTFT

(3) FFFT (4) TFTF

H,C,0,-2H,0(molwt. =126) & eI+ &I 0T B

ST 0.2 N fder= @ 500 mL &7 AT 57

(1) 3.6 gm (2) 6.3 gm

(3) 63 gm (4) 4.6 gm

DITA—] DI DlcH—Il & HT FAferd BTy

Dlaa—1 Rsiaa sifafssan

(A) CH, +20, CO, +2H,0

(B) 2Fe+3H,0—Fe,O, +3H,

(C) 2H,0—>2H, +0,

(D) S, +120H" —4S™ +2S,05 +6H,0

Dlam—I1 (XS AT BT UPR)

(P) Decomposition 3T

(Q) Disproportionation 3T

(R) Displacement 3Tf¥fsham

Space for rough work
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80.

81.

82.

(S) Combustion reaction
() A>SB—>R,C>P,D—->Q

2)A>R,B>SC—->Q,D—>P
3)A->PB>SC—->0Q,D—>R
4 A->PB->QC—->R,D>S
Which of the following statement is incorrect?

(1) o -rays consist of high energy particles
carrying two units of positive charge and four
unit of atomic mass.

(2) P -rays are negatively charged particles similar
to electrons.

(3) The y-rays are high energy radiations and
neutral in nature.

(4) Order of penetration power =
orays> prays > yrays

8 g of A(mol.mass=40)was placed in a 1 L

reaction vessel at 300 K and allowed to attain
equilibrium A(g) = 2B(g) . The total pressure at

equilibrium was found to be 8 bar. K, for the given
reaction is approximately:

(1) 18.61 bar

(2) 3 bar

(3) 5 bar

(4) 9.34 bar

Which of the following is incorrect statement?

(1) To obtain NaCl of very high purity and free
from impurities like sodium and magnesium
sulphates, HCI gas is passed through saturated
solution of NaCl .

Ag‘ion,Fe**ion and Ba*ion can be

precipitated in the form of sparingly soluble
salt AgCl,Fe(OH), and BaSO, respectively

for gravimetric estimation using common ion
effect.

(3) Solubility of salts of weak acids like phosphates
increases with increase in pH .

2

(4) Henderson-Hasselbalch equation is used to
determine pH of acidic buffer solution.

80.

81.

82.

(S) Combustion 3ff¥fshar

(1) A—>S,B—>R,C—P,D->Q

2)A>R,B>SC—>Q,D>P

B3)A->P,B>SC—->Q,D—>R

4 A->PB—>QC—>R,D>S

ffaRed § 9 &9 A1 HoF Tad 87

(1) o -fBRo § S=a Foll arel BT BT & ST a7
SHTS I AR AR FHIS YA GIHT I
g |

(2) gt B-fxot & FHH FomaRid For F |

(3) y- ool S=a oot fafevor oIk upfar # dever
g |

(4) We TG BT HH = arays> Prays > yrays

A®D (AR THM =40)8 UM 300K W 1L

JifAfshar o= # @M T AT SR HJAT U B

@ gAfd & WS ot A(g) = 2B(g) \rTaRe

W Ho a4 8§ R YT TAT| & TS AMHAT B

K, fom @ &

(1) 18.61 bar

(2) 3 bar

(3) 5 bar

(4) 9.34 bar

ffeRad & & DI A1 HAT TeAd 57

(1) 9gd S Y&a1 IR Hifeyq 3R F=RkH
Hehe Ol IYfEAl F b YE NaCl g
&1 $ o, HCl 319 &l NaCl & dq< 9rd
@ A | wRd fHar S 2|

(2) Agion, Fe** 3 iR Ba? 3a= &I |I9 ¥
GRSl a9 & BY H gerfud fhar ST debdr
2  AgCl,Fe(OH), 3R  BaSO, A 3T
HTG BT ITINT R YldHlgd A & oy
SPHTT: |

(3) pH # glg & AT BRBT S gadl A B
Al B ARl 98 Sl & |

(4) TERHT—CHAdITd FHDPROT Bl SUANT IAFATY

TR fder g & pH &I iR &= & forg
fopar AT & |
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83.

84.

85.

86.

Which among the following is most preferred
solvent for SN*reaction?

(1) DMF (2) Acetone
(3) Methanol (4) DMSO
Which of the following reaction is not possible?
OCH3 OCH;3
(1) %,00:) (Major)
NOz
CHO CHO
(2) HNO/HiSO4 (Major)
273-283K NO»
COOH COOH
3 @ conc. HNO3 AAas
(3) oS0, NOEM:!}M)
NO2
(4) @ C{f 3—C|}Cl @ (1\13] 01")
Anhy. A CH;

How many organic compound have same position
of alcohol group according to IUPAC rules:

0 NH; HO

b\{'ll—l O()H

(0] OH

H)W\OH @

(0]
(1) Two (2) Three
(3) Four (4) Five
Match the following column.

COOH

SOsH

Column-I (Alkene) Column-II
(Boiling point)

A. cis-2-butene P. 309K

B. trans-2-butene Q. 274 K

C. cis-2-pentene  R. 277K

D. trans-2-pentene S. 311K

(H)A->R,B>Q,C—>SD—>P
2) A>R,B>SC—->Q,D—>P
3)A->R,B>Q,C—>P,D—->S
4 A->QB—>R,C—>P,D>S

83.

84.

8s.

86.

fefaRag & 9 @9 SN'afafhar forw a9
qsdreT faemas 87

(1) DMF (2) Acetone
(3) Methanol (4) DMSO
frefeRad & & o= A1 aiffifbar |9 =€ 87
OCH;3 OCH3
(1) @ ms> (©) 0Majon)
NO;
CHO CHO
2) HNOyH25O4 (Msjor)
773-283K O
COOH COOH
3 @ conc. HNO3 -
3) conc.HaS04 NO(:MaJor)
4) @ C;I,—CI} pa @\ Major)
) CH:z

IUPAC forgdl & SrJdR foba wrafie i o
Jehled AE & 9 R &7

€) NH, HO

é‘(‘)ﬂ OH

M OH
AN O

SO3H
(1) a1 (2)
(3) IR (4) ui=
DI -1 (Alkene)
A. cis-2-butene P.
B. trans-2-butene Q.
C. cis-2-pentene  R.

COOH

Pt -1 (Boiling point)
309 K

274K

277K

D. trans-2-pentene S. 311K
(HA->R,B->QC—>SD—->P
2)A>R,B>SC—->QD—P
B3)A->RB->QC—>P,D—>S

4 A->QB->R,C—H>P,D->S

Space for rough work
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87. One of the consequences of the Lanthanoid | 87. <i¥Figs Jgad & URUM § | Tdh I8 © b
contraction is that (1) Nb 3R Ta &I 31 ST A 2 |
(1) Nb and Ta have about the same radius. @) Zr AR Zn 3 B ~
(2) Zr and Zn have about the same radius. 3) Zr 3R Nb & aifed) - 3
(3) Zr and Nb have same oxidation state. (4) Hf do Hg & B NN
(4) Hf and Hg have about the same radius. o . o
88. FeOCrO.,_NeCos  a_ H .p K o~ 88. FeOCr,0,———A yB—~—>C
0 . . AMfE C &R gqHT I &
The compound C and it’s colour is: Na.CrO. 4l it
(1) Na,Cr,O, and yellow (1) Na,Cr, 73ﬁ_\, o
(2) Na,CrO,and yellow (2) Na,Cro, e
(3) K,Cr,O, and orange (B)K.Cr,0; N X
4 :
(4) K,CrO, and orange (D K.Cro, A X |
~ . 89. fy=ferRad Hapell TR faaR & |
89. Consider the following complexes. . 5 3
(M [MnCI, ] (1) [CoR,]° (I) [MnCI¢] (I1) [CoF;]
-3 +3
am [Mn(CN),]”  av) [Co(H,0),]" (I [Mn(CN), ] (1V) [Co(H,0), ]
The inner orbital complex(s) is/are :- IR HEl ¥ & -
(1) and IV only  (2) Il and IV only (1) Paet 113X IV (2) Beel L3R IV
(3) Il only (4) Tand I only (3) et 111 | (4) ®ad 13R 11
90. How many isomers can exist for the complex | 90- [Cr(en)zC1_2]+ Wgel & forg b wamaad) Aie
[Cr(en),CL]*? Bl Fdhd 87
(13 (2)6 (= (2)6
3) 2 (4) 10 3) 2 % 10
Space for rough work
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PART - Il : BOTANY

91.

92.

93.

94,

What is incorrect about metaphase stage of mitosis?

(1) Spindle fibres attach to kinetochores of
chromosomes.

(2) Centrosome begins to move towards opposite
poles of the cell.

(3) Chromosomes are moved to spindle equator
and get aligned along metaphase plate.

(4) Each chromosome is made up of two sister
chromatids, which are held together by the
centromere.

The parenchymatous cells which lie between the
xylem and the phloem in dicot root are called as:

(1) Stele (2) Conjuctive tissue
(3) Medullary rays (4) Pith
Given below are two statements:

Statement I:  First action spectrum of
photosynthesis was described by T. W. Engleman.

Statement II: Julius von Sachs provided evidence
for production of glucose when plants grow.

In the light of the above statements, choose the
most appropriate answer from the options given
below:

(1) Statement I is correct, but Statement II is
incorrect

(2) Statement I is incorrect, but Statement II is
correct

(3) Both Statement I and Statement II are correct
(4) Both Statement [ and Statement II are incorrect

Which of the following is not correct about pollen
grain?

(1) The vegetative cell floats in the cytoplasm of
generative cell.

(2) Sporopollenin is absent at germ pore.

(3) In most of the angiosperms pollen grains are
shed at 2-celled stage.

(4) Pollen grains of Parthenium cause severe
allergies and bronchial afflictions.

91.

92.

93.

94.

AT T &Aool R & aN H a1 ITeld
27

(1) T dF ToRIEI @ BIICIdR I S o |

(2) dgm IR & I gai &1 iR I
FRAT YO PR <l B |

() TPRE d§ TRI @ R I w7 iR
HeTHol Wic & 1S FIReIT 8 I 2 |

(4) 9% TURLA & RRER HHfes A F91 8I4T &,
S ASIAR gRT 9IS B 2

IN=HIsHed PIRHEG ol fgdom= g0 § S
3R wlied & g Rerd Bl €, S8 &1 P8l Il
27

(1) Eref (2) TS D
(3) AgeI B0l (4) woo
I &1 HUF feu U -

HUF I: UBIR FIIYYT B YT Alhd WacH T.

W. SOl gIRT afvfd fam T o |

S 11: S i Heh =1 UEl & 971 IR Tdiol

% SdTe @ forg 927 e by |

SWRIG Bl & 3Melld § - U Ty fAdwedl

A I UG SR BT TIT DITSTI—

(1) BIF [T 8, Afdbs U 11 7Tea &

(2) BIF [T &, oAfh HUF 11 T8 &

(3) B [ 3R HUF I 4T TT &

(4) BUF 1 3IR B [I IFT Teld 8

WRAT 97 & gR ¥ FF=faRad § 4§ 39 a1 |98

&l B?

(1) SRS DIRHT T DIRTHT & DIRHE d
AR T

(2) R 9 fog # rguRerd ¢ |

(3) TfeHIeT YRATIRTH § WRET BT 2-BIRHT AR
# 9ad B 2 |

(4) TRITH & WRIT &oT R Yerol SR gifmad

HhHUT DT BN §d] %l

Space for rough work
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9s.

96.

97.

98.

What is not a character of Down’s Syndrome?

(1) Trisomy 21

(2) Retarded
development

(3) Gynecomastia

(4) Broad palm with characteristic palm crease

If in a pond there were 20 lotus plants last year and
through reproduction 8 new plants are added,
taking the current population to 28 calculate the per
capita birth rate.

psychomotor and mental

(1) 2.05

(2) 0.8

(3) 0.2

4) 0.4

Match List I with List I1

List I List 1T

A TVolvox I. . Plant body is divided into
holdfast, stipe and frond
and  zoospores  are
biflagellate

B. Ulothrix II. Chlorophyll a and b and
isogamous sexual
reproduction

C. Laminaria III. Colonial thallus and
00gamous sexual
reproduction

D. Polysiphonia = IV. Reserve food is similar to
amylopectin and
glycogen

Choose the correct answer from the options given
below:

(1) A-I, B-I1, C-II, D-IV

(2) A-1I1, B-11, C-I, D-1V

(3) A-1V, B-III, C-1I, D-1

(4) A-IL, B-II, C-1V, D-I

Given below are two statements: one is labelled as
Assertion (A) and the other is labelled as Reason
R).

Assertion (A): The maximum concentration of
alcohol in beverages that are naturally fermented is
13 percent.

Reason (R): Yeasts poison themselves to death
when the concentration of alcohol reaches about 13
percent.

95.

96.

97.

98.

ST RASM &1 o1 7181 &7

(1) SIS/ 21
(2) ATSHMER IR AFRIG [AH rawa
(3) MEAPrRY

(4) TS A H AfATEIOS dfew fobo

I U dreed | fUse a9 20 HHc & WY o 3R
U & H1egq I 8 Y UIE Sile Wi 8, dT aaHdr
ST DT 28 b o OITd &, Ui Afdd o e%
BT U] PY—

(1) 2.05

2) 0.8

(3) 0.2

4) 0.4

e L B! A 1L A1y GAfera Hiforg—

Gl = 1

A FITIFT [ U & ¥RR B BleSHRT
I8y SR i€ H fawriora
[ERIRINI RS RIEN |
fgeene! g €

B. Jenfrad II. FARIeT a 3R b deIm
FHLHD] i IoT=T+]

C. amTiRar 1. 969 Biarl w0 3 3R
HUSGTHD! <ifiTch goT=

D. ifervreifar - 1V, |ufed CIGE]
UHTS AIUfde AR

TS PIGTT & A ©

T f3U Y fAmedl # A 8l SR &1 I HIfoT—
(1) A-I, B-III, C-TI, D-IV

(2) A-TII, B-IL, C-I, D-IV

(3) A-IV, B-III, C-II, D-I

(4) A-III, B-II, C-1V, D-1

A &1 U AU MY B UH B B (A) AT
T B BROT (R) & wU H AMifda far Smar 2 |
DT (A): UTBldd wU A [H09d ug ugrl H
UohIgldl Pl by Aigdr 13 Ufaerd 2 |

HIROT (R): Uehlalel &I Aigdl o9 13 ufaerd a@
M R A< @ gg & ol 2
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99.

100.

101.

In the light of the above statements, choose the
correct answer from the options given below:

(1) (A) is true but (R) is false
(2) Both (A) and (R) are false

(3) Both (A) and (R) are true and (R) is not the
correct explanation of (A)

(4) Both (A) and (R) are true and (R) is the correct
explanation of (A)

The given aestivation is present in:
(1) Mustard and Calotropis
(2) Cassia and Gulmohar
(3) Pea and Bean

(4) Ladyfinger and Cotton

What is not correct for the inheritance of human
blood group?

(1) I* and I° are codominant.

(2) There are 4 possible genotypes for the human
blood group.

(3) I*is completely dominant over I°
(4) Rh™* is dominant while Rh™ is recessive.

Match List I with List I
List I List II
A. Auxins I. Initiates germination in

peanut seeds.

Increases the length of
the sugarcane stem.

B. Gibberellins II.

C. Cytokinins III. Initiate rooting in stem
cuttings.
D. Ethylene IV. Help in lateral shoot

growth and adventitious
shoot formation.

Choose the correct answer from the options given
below:

(1) A-L B-III, C-II, D-IV
(2) A-111, B-11, C-1, D-IV
(3) A-I11, B-I1, C-1V, D-I
(4) A-1V, B-IIL, C-1I, D-I

99.

100.

101.

SRIGT BT B 3l ¥ = fu 77 faeedr

I 8 SR BT AT BITT—

(1) (A) 9T & oIfd T (R) 39T &

(2) (A) 3R (R) Tl 39 &

(3) (A) 3R (R) sFI ¥ € 3R (R), (A) &1 A2
TETHRIT T8 B |

(4) (A) 3R (R) Ml I & 3R (R), (A) &1 3l
TEHIT 2 |

e o1 <afemma fA o Ao g

()

N

(1) |91 IR parighfaT

(2) PRAT R TFAHER

(3) Hex 3R 99

4) P iR U

HId Y GHE bl 9T & ol a1 Hel 81 57
(1) I 3R I FeyHrdT € |

(2) A YT FHE B folq 4 FAIfIT Sfrersy € |
B) PO TRE ¥ °WR y91E) 2

(4) Rh™e grdl ® Sdafds RhYe a8

Al I T AT 11 & 7T gHfera diforg—
eIl <= 1

A. SifesT I HT%ell & 451 H 3Rl
IH B B |

B. fexfer 11 gﬁrzﬁaﬁaﬁmm
|

C. drscipis=a 1L g9 @ &feT § wfeT
IRY Pl 2

D. grrgeid IV.aRd WRE  Jfg iR

FRAND TRIE T
RERCY
W9 oy U et # I 98 SR BT I PRI
(1) A-1, B-1I, C-II, D-IV
(2) A-III, B-11, C-I, D-IV
(3) A-IIL, B-11, C-1V, D-I
(4) A-1V, B-IL, C-1I, D-I

Space for rough work
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102.

103.

104.

105.

Given below are two statements: one is labelled as
Assertion (A) and the other is labelled as Reason
(R).

Assertion (A): Viruses having RNA genome and
having shorter life span mutate and evolve faster.

Reason (R): RNA chemically is less reactive and
structurally more stable when compared to DNA.

In the light of the above statements, choose the
correct answer from the options given below:

(1) (A) is true but (R) is false

(2) Both (A) and (R) are true and (R) is the correct
explanation of (A)

(3) Both (A) and (R) are true and (R) is not the
correct explanation of (A)

(4) Both (A) and (R) are false

Which of the following scientist used the frequency
of recombination between gene pairs on the same
chromosome as a measure of the distance between
genes and « ‘mapped’ their position on the
chromosome?

(1) Walter Sutton

(2) Alfred Sturtevant

(3) Reginald C Punnett
(4) Thomas Hunt morgan

Which of the following is not associated with cyclic
photophosphorylation?

(1) Photosystem I
(2) NADP reductase
(3) Proton gradient
(4) ATP Synthase

The phenomenon in which a single gene can exhibit
multiple phenotypic expression is called as:

(1) Polygenic inheritance
(2) Pleiotropy

(3) Incomplete dominance
(4) Linkage

102.

103.

104.

105.

T | ®od U MU R TP BT HAA (A) TAT
T B BRUT (R) S I H AMifhd far smar 2|

P (A): RNA STHH arel aRRE BT Side Bl
P9 Bl ¥ SR AR ool W Sgfde q
SaaRadd & & |

BRI (R): DNA &1 o1 § RNA IS %9 4
oH 3R TS ®U A fF ReR

BT 2 |

SWRIFT BT B 3Melld H a0 U v fawent

I L SR BT AT BITT—

(1) (A) 9 & i (R) 319 &

(2) (A) R (R) SFI 9 & AR (R), (A) BT A2
TIEAROT B |

(3) (A) R (R) SFI 9 & 3R (R), (A) &1 A2
T THROT TET R |

(4) (A) 3R (R) I 3 &

frfafeg & & foa asnfre 9 S9 & 9= @t

R & A9 & w9 H TP & POREF R S| I ©

9@ gaaeE @ MgRl 1 [SuART fhar eiR

TORE WX ST Reafd &1 du fdar?

(1) dTeex e

(2) AShS TRAC

(3) STHTES C Grie

(4) o9 Be AR

f=feRad § W DI TP BICTHRBRISAT I

Adferd g 87

(1) ShTera 1

(2) NADP 319=a=

(3) WIEH yaqorar

(4) ATP Rigrst

g8 gedl S Ud Uehd S Py oy

;ﬁwﬁaw&hww%ﬁwwmw

(1) 9GO FRMHA

(2) ggudl S

(3) el grafaan

(4) foiast
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106.

107.

108.

Given below are two statements: One is labelled
as Assertion A and the other is labelled as Reason
R:

Assertion A: Decomposition rate is slower if
detritus is rich in lignin and chitin, and quicker, if
detritus is rich in nitrogen and water-soluble
substances like sugars.

Reason R: Temperature and soil moisture are the
most important climatic factors that regulate
decomposition.

In the light of the above statements, choose the
correct answer from the options given below:

(1) Both A and R are true, but R is NOT the correct
explanation of A.

(2) Ais true but R is false.
(3) A is false but R is true.

(4) Both A and R are true, and R is the correct
explanation of A.

Consider the following statements:

Play an important role in seed development.
Helps seeds to withstand desiccation.

Acts as an antagonist to GAs.

Stimulates the closure of stomata.

mo 0w

Regulate abscission and dormancy.

How many of the above statements are correct with
respect to abscisic acid?

13

() 4

3 2

3

Which of the following is incorrect for sex
determination?

(1) Male heterogamety is present in Drosophila.

(2) The grasshopper with a AA+XO chromosome
is a male.

(3) Drone in honeybee do not have father but have
a grandfather.

(4) In chicks sperms are responsible for the sex
determination.

106.

107.

108.

AR & B AU MU E : UB Bl BAA (A) AT
T B R (R) S I H AMifhd far smar 2|

$U (A): IR} aRE A iR Frsfes # w95

2, a1 arEed &) 91 g, &R afy JtuRg AIgge

3R T@HT o U H gorefiel gerelf § wug ®

qT 3rgeres &7 & ol Bl § |

PRI (R): T0AH AR LT &I T4 Fad Agcayol

Sy BRS ©, il gEed bl FRIBT $d 2 |

SWRIGT BT B 3MTelid H A fu v fJwedl

I e SR BT FIT DHIfTI—

(1) (A) 3R (R) SFI I 7 3R (R), (A) BT F2
TIETHROT TET B |

(2) (A) ¥ & oIfd T (R) 39T &

(3) (A) 3T € ffdhd (R) 9 &

(4) (A) 3R (R) M 9 & 3R (R), (A) BT 8l
TTENBRYT 2 |

frfoad dodl ™ AR HifvR-

A. i aRaeT # wecaget Hfier v €

B. 96l &1 fASicdRUl &7 AT &9 § Heg
Pl 2 |

C. GA® Rl & wU H H1d =T 2 |

D. ¥ & 93 81 $I SURI Hal 2 |

E. fOei ok ugwiar &1 fFafid axar 2|
vfeaie TRie @& Hdy # SWiad # 9 fa dee
qel &7

15

) 4

(3) 2

4) 3

fofr feiRor & forg fr=ifeiRea & & 71 Tora 27
(1) Sl R fa9q gma@! &

(2) AA+XO URIF dTeTl fegeT U R &
(3)2%@1#@??%%@%3%5%@%

(4) Rre & gy foiT fuRer & i Rier
B 8
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109.

110.

111.

112.

Which of the following statement is incorrect about
kingdom monera?

(1) Archaebacteria can survive in extreme adverse
conditions where no other organisms can
survive

(2) Bacteria are complex in structure but simple in
behaviour

(3) Chemosynthetic bacteria play an important role
in nutrient cycling

(4) Majority of bacteria are heterotrophic.

Which of the following is not a correct match of
virus and its genetic material?

(1) TMV —ssRNA

(2) QB bacteriophage - ssSRNA

(3) Lambda bacteriophage — dsDNA
(4) HIV - dsRNA

Given below are two statements:

Statement I: The leptotene and zygotene stages of
prophase | are relatively short-lived compared to
the pachytene.

Statement II: In oocytes of some vertebrates,
diplotene can last for months or years.

In the light of the above statements, choose the
most appropriate answer from the options given
below:

(1) Statement I is correct, but Statement II is
incorrect

(2) Statement I is incorrect, but Statement II is
correct

(3) Both Statement I and Statement II are correct
(4) Both Statement I and Statement II are incorrect

Given below are two statements: One is labelled as
Assertion A and the other is labelled as Reason R:

Assertion A: The ovary in mustard flowers is said
to be superior.

Reason R: In mustard flower the gynoecium
occupies the highest position while the other parts
are situated below it.

In the light of the above statements, choose the
correct answer from the options given below:

109.

110.

111.

112.

ST AFRT @ aR # frefaRead § 9 9 s

TAd &7

(1) fehdadiRar e ufame uRRefoal #
Sfad 8 |dd § STl ®Ig 3 Sitg Sifad
T B AHhaT §

(2) JRIRTT Fe § Ffed 8d € b adaer
# et B '

(3) pARAeH JFIRAT Uy ahor H Agayol
i fmm &

(4) Sfereprer IR fawaod g €

FrforRad @ | P11 arIRY iR IFD MRS

geref &1 el e T8 g7

(1) TMV — ssRNA

(2) QB §FARAB- ssRNA

(3) oivesl SaIRITDS — dsDNA

(4) HIV — dsRNA

I &1 BT fay v g

B I ol [ & deidd 3R STgeE AR

UBISEIT B Tl # SUETHT HH FHI & B ¢ |

U II: B HABRGAT & FARe H (@A

HEIMT A1 99f dh I8 FhaT © |

SWRIGT BT & 3MTelid H Ara QU v fqweat #

A G UG SR Bl FIT DITSTg—

(1) BIF 12! B, lfdhs HUF 11 Teld &

(2) BIT [7e1d &, oifdh HAT I A2 &

(3) BUF 1 3R B 11 a1 el &

(4) AT [ R B I T Tead &

T BT U MU T Th Bl HUH (A) qAT
TA B DR (R) & T # AMIfBd far ST 2 |
S (A): G4 & G4 H 3fSIeY Bl LA BT
ST B |

PR (R): T & g ¥ SIINT Ieadq I W
BT © STdfh =g WIT 39 - Rerd 8 &
SWRIGd HUI & 3Meld A &y Ty fAwedl
A Bl IR BT I DITI—
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113.

114.

115.

(1) Both A and R are true, but R is NOT the correct
explanation of A.

(2) Both A and R are true, and R is the correct
explanation of A.

(3) A s false but R is true.
(4) A is true but R is false.
Match List-I with List-1I

List I List IT
(Genetic code) (Amino acid)
A GUG I.  Glutamic acid
B. GAG II. Methionine
C. AUG II. Tryptophan
D. UGG IV. Valine

Choose the correct answer from the options given
below:

(1) (A)-(ID), (B)-(I), (C)-(IV), (D)-(I1T)

(2) (A)-(1V), (B)-(ID), (C)-(I), (D)-(II)

(3) (A)-(IV), (B)-(D), (C)-(1I), (D)-(I1I)

4) (A)-(D), (B)-(IV), (C)-(I1I), (D)-(II)

RQ value of tripalmitin would be:

(1) 0.9 2) 0.7

(3) >1 41

Given below are two statements: One is labelled as
Assertion A and the other is labelled as Reason R:

Assertion A: Thalassemia is a quantitative
problem whereas sickle cell anaemia is a qualitative
problem.

Reason R: Thalassemia differs from sickle-cell
anaemia in that the former is a problem of
synthesising few globin molecules while the latter
is a problem of synthesising an incorrectly
functioning globin.

In the light of the above statements, choose the
correct answer from the options given below:

(1) Both A and R are true, but R is NOT the correct
explanation of A.

(2) Both A and R are true, and R is the correct
explanation of A.

(3) A is false but R is true.
(4) A is true but R is false.

113.

114.

115.

(1) (A) 3R (R) SFI I & 3R (R), (A) &1 &
TqETHRIT T8 2 |

(2) (A) 3R (R) SFI I ® 3R (R), (A) &1 &
TETHRT 2 |

(3) (A) 3T ® «fdhT (R) 9T &

(4) (A) 9T & oIfd (R) 39T &

A1 & AeF-11 Fe d—

= 1 Gl
(e Blre) CRINIANES)
A GUG I Toeife Rrs
B. GAG II. AR
C. AUG 1. fewerh
D. UGG Iv. afers

A AU T fapedt § 9 e SR BT AT BT
(1) (A)-(D), (B)-(1), (C)-(IV), (D)-(I1T)
(2) (A)-(IV), (B)-(IIT), (C)~(T), (D)~(IT)
(3) (A)-(AV), (B)-(I), (C)-(IL), (D)~(I11)
4 (A)-(D, (B)-(IV), (C)-(I1I), (D)-(IT)

fearafafess &1 RQ AT Brm—
(1) 0.9 ©) 0.7
(3) >1 4) 1

1 & BT U U § : gh DI HUA (A) qAT

TR Bl BRYT (R) & WU H i fhar S & |

P (A): JAFRIT Th AHHG TR © Sidfh

Ridwer et TR va [oneHs FaR 2|

PRI (R): Torfiffar Rievd v fen &9 g9

ARE H AT ® b Jediffr 98d w9 T

USHT Pl HYANT PRl ©, Sdid b o

T Tad @ | B B dTel Talfed @l

T B B TEAT 2 |

SWRIGd AT @ 3ATAld # A U 77 fawedl

A e SR BT AT DIOTT—

(1) (A) 3R (R) THl ¥ T 3R (R), (A) & 2
TIETHRT TET B |

(2) (A) 3R (R) SFI I ® 3R (R), (A) &1 H2
TJETHRT 2 |

(3) (A) A & fdhd (R) I &
4) (A) 9 2 lfd (R) 399 ©

Space for rough work

Narayana Jaipur HO: B-28, Gopalpura Bypass Road, 10-B Scheme, Near Ridhi Sidhi Circle, Jaipur, Rajasthan 302018

€3]



116.

117.

118.

119.

Given below are two statements:

Statement I: The enzymes present in lysosomes
are active in an acidic pH.

Statement II: Smooth Endoplasmic Reticulum is
the important site of formation of glycoproteins and
glycolipids.

In the light of the above statements, choose the
most appropriate answer from the options given
below:

(1) Statement I is correct, but Statement II is
incorrect

(2) Statement I is incorrect, but Statement II is
correct

(3) Both Statement I and Statement II are correct
(4) Both Statement I and Statement Il are incorrect
Which of the following is incorrect:

(1) The innermost layer of the cortex in dicot stem
is called the starch sheath.

(2) In dicot root initiation of lateral roots and
vascular cambium during the secondary growth
takes place in endodermis.

(3) The tissue between the upper and the lower
epidermis in leaves is called the mesophyll.

(4) In monocot stem phloem parenchyma is absent,
and water-containing cavities are present
within the vascular bundles.

Which of the following rRNA is not transcribed by
RNA polymerase [?

(1) 28S rRNA
(2) 18S rRNA
(3) 5.8S rRNA
(4) 5S rRNA

The rate of biomass production is expressed in
terms of

(1) kcal m? yr!
2) gm?yr

(3) gm?

(4) kcal m? yr

116.

117.

118.

119.

W g Foe fay Ty B

SO I: ATSEEM | HIGE USTsH U& Felrd pH #

|fha B T

A 11: fae favugall Siferd! TegacE iR

TR HIfSH & AT & Aeaqu! I 2 |

SWRIGd HUAI & 3Melld H -y Ty fAwedl

A FIH IUGEH IR BT FIT DITSTY—

(1) 29 198 B, Afbd B 11 Taid ®

(2) B 17T 8, b B 11 A8 §

(3) BUTI 3R HUT I 21 FET &

(4) BT8R HIF I AT Tead &

ffaRad & & eHar Tod 8—

(1) fgdforas a9 # gedme 31 idRe R & T
3MeS Pel Il © |

() ool Ha1 H, uRd 7ot US| S
Bl B |

(3) gRkEl # HU AR e e & 99 &
Fad 1 Aol Her SIar € |

(4) UHASTAT T H Fellgd IR=H1SHT 3uRerd 2,
3R Hael dedi & WIR Ul Jad [eIbI]

HAISE 2
f=feRad § | d19 |1 rRNA, RNA GIeiaReT |
ERT 3elead el 57
(1) 28S rRNA
(2) 18S rRNA
(3) 5.8S rRNA
(4) 5S rRNA
SR SATET @) <) B fHas w9 # aq fear
ST 87
(1) kcal m? yr!
(2) gm™yr!
(3) gm?
(4) kcal m? yr
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120.

121.

122.

Identify the ecological pyramid given in the
diagram?

PC 21

P 4

(1) Pyramid of number of grassland ecosystem
(2) Pyramid of energy of forest ecosystem

(3) Pyramid of number of sea ecosystem

(4) Pyramid of biomass of pond ecosystem

Match List-I with List-II.
List I List I1

A. Equisetum I.  Macrophyllous leaves

B. Selaginella II. Leafless most primitive
pteridophytes

C. Adiantum III. Sporophylls  form a
compact structure called
cone or strobilus.

D. Psilotum IV. Stem is divided into

nodes and internodes

Choose the correct answer from the options given
below:

(1) (A)-I), (B)-(D), (C)-(1V), (D)-(I1I)

(2) (A)-1V), (B)-), (C)-(I), (D)-(1D)

(3) (A)-AV), (B)-(1I), (C)-(I1D), (D)-(T)

@ (A)-1), (B)-(IV), (C)-(), (D)-(1D)
Consider the following statements:

Present in nucleoplasm.

Membrane bound organelle.

Site of rRNA synthesis.

All cells have large and numerous nucleoli.

MmO 0w >

Continuous with the rest of the nucleoplasm.

How many of the above statements are correct with
respect to nucleolus?

(YN
(2) 4
3 2
3

120.

121.

122.

are # oy U uiRRerfes fOR1fAs @1 ug=m
I~

PC 21

P 4

(1) a9 #eq uiRRefaa! d3 # e a1 fRifis
(2) a9 uiRRefaat a3 & SHoft &1 fiRifie

(3) TgEl yIRRerfaal a3 H =1 & RIS
(4) arere TRRfI® T3 # SIawR &1 fRifie

A1 & A G-I BT A= av—
= 1 Gl

A. sfaaseH [ Hpifther gof

B. Ryafsrer I gof <fed, wed  anfew
cRemmrged

C. uf$ueH L. @] 9o U diae
I IS BBl STl B |

D. WIgdlcH IV. %H &I 44 |fY ok ud
farifora fopam mar 21

S fRT TU fawedl § 9 HEl SR BT FIT DI

(1) (A)-(1D), (B)-(1), (C)-(IV), (D)~(11I)

(2) (A)-(IV), (B)-(111), (C)-(D), (D)-(1D)

(3) (A)-(1V), (B)-(1D), (C)~(I1D), (D)-(D)

@) (A)-(D, (B)-(IV), (C)-(I1D), (D)-(ID)

f=faRad woMl iR AR v

hahae] H ANE & |

f3reel & Sfdrd PIRrHIT

rRNA HIeTS0T BT ¥ore

gﬂfﬁ DIRTHRI # 93 iR TS HIdT B
I

E. & dadasd & A1 ARax |

gﬁﬁﬁmﬁﬂﬁaﬁwﬁaﬁzﬁaﬁﬁ@ﬁﬁﬁvﬁ

7

(15

(2) 4

(3) 2
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90w e
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123.

124.

125.

Given below are two statements: One is labelled as
Assertion A and the other is labelled as Reason R:

Assertion A: Meiosis increases the genetic
variability in the population of organisms from one
generation to the next.

Reason R: Meiosis is the mechanism to maintain
the chromosome number generation after
generation in sexual reproduction.

In the light of the above statements, choose the
correct answer from the options given below:

(1) Both A and R are true, but R is NOT the correct
explanation of A.

(2) Ais true but R is false.
(3) A s false but R is true.

(4) Both A and R are true, and R is the correct
explanation of A.

In the grass family the large cotyledon is called as:
(1) Scutellum

(2) Perisperm

(3) Epiblast

(4) Epicotyl

Given below are two statements: One is labelled as
Assertion A and the other is labelled as Reason R:

Assertion A: In C4 plants photorespiration does not
occur or negligible.

Reason R: Cj; plants have a mechanism that
increases the concentration of CO> at the enzyme
site.

In the light of the above statements, choose the
correct answer from the options given below:

(1) Both Arand R are true, but R is NOT the correct
explanation of A.

(2) A s true but R is false.
(3) A is false but R is true.

(4) Both A and R are true, and R is the correct
explanation of A.

123.

124.

125.

T | ®od U MU € UP BT U (A) TAT
T B R (R) S I H AMifhd far smar 2|

DT (A): JERGITIHTSIT il B FAfE H T Uil
d g Wi aa Safre fafeTar &1 gerdr 2|

HROT (R): SRS it uor= 7 digl &%
Gl OIS AT DI Fd 9Q 3@ BT 7 B |
SWRIFT B B 3fMeld ¥ =g U Ty fawed #
I HEl SR BT FIT DITI—

(1) (A) 3R (R) SFI I 7 3R (R), (A) &1 H2
TEIHRIT 8 © |

(2) (A) I & ofd T (R) 39T &
(3) (A) 39T & offdhd (R) 9T &

(4) (A) 3R (R) SFI I § 3R (R), (A) &1 2
TEEHIT ¢ |

U @l H 9 dI0s Bl FT HET Sl 27
(1) o™

(2) uRwTH

(3) Ufteemee

(4) TfPIcTgd

Al &1 BT AT MY B - TP Bl HAUA (A) qAl
T B BRYT (R) & U H AWifhd far siar 2|

P (A): C, Urell H UbTer Ta9 =&l BT © AT
TT0g BT B |

PR (R): C, Uil # U 31 BIaT & ST UolsH Jerel
TR CO, & Aiadl Bl 9edl © |

SWRIFT HIAI & 3MAld § - U v fawent o

I8! SR BT IIT BIfTu—

(1) (A) 8IR (R) &FI I & iR (R), (A) BT I
TJETHRIT 8T 2 |

(2) (A) ¥ & ofd T (R) 39T &

(3) (A) 3T ® <fd (R) 9T ©

(4) (A) 3R (R) SFI I & 3R (R), (A) &1 H8
TEEHIT B |
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126.

127.

128.

Which of the following is not a correct statement
with respect to parasitism?

(1) The female mosquito is not considered a
parasite.

(2) Endoparasites usually have a low reproductive
capacity.

(3) Cuscuta, a parasitic plant has lost
chlorophyll and leaves during evolution.

(4) Snail and fish are the intermediate hosts of the

its

liver fluke.
Match List-I with List-1I
List I List IT
A. Datura I.  Trimerous flower
B. Lilium II. Monoadelphous
androecium
C. Hibiscus III. Apocarpous ovary
D. Michelia IV. Epipetalous androecium

Choose the correct answer from the options given
below:

(1) (A)-1), (B)-(I), (C)-(1V), (D)-(IIT)
(2) (A)-(AV), (B)-(IID), (C)-(1), (D)~(IT)
(3) (A)-AV), (B)-(D), (C)-(1I), (D)-~(I1T)
) (A)-(D), (B)-(AV), (C)-(III), (D)~(II)
Given below are two statements:

Statement I: Some members of deuteromycetes
are saprophytes or parasites while a large number
of them are decomposers of litter and help in
mineral cycling.

Statement II: Once perfect (sexual) stages of
members of deuteromycetes were discovered they
were often moved to ascomycetes or
basidiomycetes.

In the light of the above statements, choose the
most appropriate answer from the options given
below:

(1) Both Statement I and Statement II are correct

(2) Statement I is incorrect, but Statement II is
correct

(3) Statement I is correct, but Statement II is
incorrect

(4) Both Statement I and Statement II are incorrect

126.

127.

128.

ON O\

URSIGITT & deel # Aoy

|El T8l 7?
(1) ATGT AR BT IR &l /T ST © |
(2) TR H AHFIT: Tol-9 &l HH Bl

=l

(3) Zvger Udh WReldl Uley B o S5 &
SR U FARIfhel R gRral & w@r fear
=l

(4) 9T IR Al AFHT Yoo @ Hegad| ol |

g H 9 pEAr HUH

A1 BT GAI-11 & A1 GAferd HIfTg—
= 1 Gl

A. gV I B gu

B. [oifergg II. THHel gaT

C. lefdvpwa 1. fagarsyr ST

D. 1&eifcrar IV. SeTel™ o7

A feu U fawedl # 9 98l SR BT 9T BINIT:
(1) (A)-(ID), (B)-(D), (C)-(IV), (D)~(I1I)

(2) (A)-(1V), (B)-(IID), (C)~(I), (D)~(11)

(3) (A)-(1V), (B)-(D), (C)-(1I), (D)~(I1T)

4) (A)-(D), (B)-AV), (C)-(I1I), (D)~(IT)

W a1 HUH Ay U B

PO S S BB AW JUIEISC AT
TRl B § Sfdf S W 9 ' ¥ G @
SIBUISR Bl © 3 Wivol ThT § Ace HYd ¢ |

HUT I1: U IR SYRMISNICIS & Al B el
@F) WO DI W D g, S ITENR
ThHgded I IRIfSIAsRISST # o Simam T4 |

SWRIGT Bl & 3Melid H, A< 37 77 fadweai 3
A W SUGAd SR BT FIA DITI—

(1) BIT 192! B, lfdT S 11 ITed &
(2) BUF 1A ©, olfhd A 11 |l B
(3) HAF 3R HUF I AT T &
(4) BT 3R HUF I AT TeAd &
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129.

130.

131.

132.

Which of the following is not a feature of cross-
pollinated flowers:

(1) Self incompatibility

(2) Monoecious plants

(3) Cleistogamous flowers

(4) Dioecy

Identify the correct statement for the myotonic
dystrophy:

(1) Itis an autosomal recessive disorder

(2) An affected individual may have unaffected
parents

(3) If both parents are affected, they may have
unaffected progenies

(4) Some generations in the pedigree may not
show the trait

Plants follow different pathways in response to
environment or phases of life to form different
kinds of structures. This ability is called:

(1) Plasticity (2) Differentiation
(3) Senescence (4) Development
Match List-I with List-1I

List I List IT

A. Inclusion bodies I. Help in cell wall
formation, DNA
replication and
distribution to daughter
cells.

B. Polysome II. Help attach the bacteria
to rocks in streams and

also to the host tissues.

III. Several ribosomes attach

to a single mRNA.

Reserve — material in
prokaryotic cells.

C. Mesosome

D. Fimbriae IV.

Choose the correct answer from the options given
below:

(1) (M-I, (B)-(1), (C)-(IV), (D)-(11I)
(2) (A)-(IV), (B)-(II), (C)-(D), (D)-(1D)
() (A)-(IV), (B)-(I), (C)-(1D), (D)-(I1D)
@ (M-, (B)-(IV), (C)-(I1D), (D)-(1I)

129.

130.

131.

132.

fferRad 5 9 B9 A1 HIG—URNETT dTel Hall Bl

fareryar =g 8-

(1) 3TH I

(2) fafefmsrl urey

(3) foreeri=a g

(4) TpfefTar

;@WW$W@E@H&%W

(1) I8 T fcame Rafia fewasiis 8

(2) Th wIfdd afdd & ATG-—Odr smfad &1
AR &

(3) Ife Ara—far <= ywifad €, @S98 U
I AT & el © |

(4);?113?411#@@%%@%@%@1%
|

i AfY= geR & G bl g9 b foru
UYTAROT AT Sid_ & RO & odrdg § fafe= qmf
BT UTTT BRA & | S &THAT DI Hal Sl 8—

(1) gaedr (2) 3ol

(3) gerar (4) faor

e -1 BT AL S A1 AT BIRTI—

A 1 T 11

A. A e 1L wIfier ks fEor, DNA
gfergpfer 3R &
BIfRTEIST & faavor #
G BN © |

B. 989 I 3R & grmei #
JeHl 3R HoTaF SHddbl
J Sired # 9gg BV |

C. #NM . ©g EaNE U6 Uhd
mRNA & 90 2 |

D. fofegar IV. pRufes PIrdRl H
RIS AT

T AU U fawed) § F el SR BT AT DI
(1) (A)-(ID), (B)-(I), (C)-(IV), (D)~(11D)
(2) (A)-(IV), (B)-(11), (C)-(D), (D)-(1D)
(3) (A)-(IV), (B)-(D), (C)~(ID), (D)~(I1D)
@) (A)-(D, (B)-(IV), (C)~(I1D), (D)-(1D)
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133.

134.

135.

What is incorrect about the pathogen of Bovine
spongiform encephalopathy?

(1) Abnormally folded proteins

(2) Cause infections in both plant and animals

(3) Without genetic material

(4) Similar in size to virus

Given below are two statements:

Statement I: For each ATP produced, 4H" passes
through Fo from the intermembrane space to the
matrix down the electrochemical proton gradient.
Statement II: Fy is an integral membrane protein
complex that forms the channel through which
protons cross the inner membrane.

In the light of the above statements, choose the
most appropriate answer from the options given
below:

(1) Both Statement I and Statement II are correct

(2) Statement I is incorrect, but Statement II is
correct

(3) Statement I is correct, but Statement II is
incorrect

(4) Both Statement [ and Statement II are incorrect

Given below are two statements: One is labelled as
Assertion A and the other is labelled as Reason R:

Assertion A: Higher the category, greater is the
difficulty of determining the relationship to other
taxa at the same level.

Reason R: As we go higher from species to
kingdom, the number of common characteristics
goes on decreasing.

In the light of the above statements, choose the
correct answer from the options given below:

(1) Both A and R are true, but R is NOT the correct
explanation of A.

(2) Ais true but R is false.
(3) A s false but R is true.

(4) Both A and R are true, and R is the correct
explanation of A.

133.

134.

135.

g WTHH Tharel & INoHd & dR
H T TAd 87

(1) EHT ®Y | T g3 e

(2) U 3R STFeRT Q1§ HHAT BT BRI

(3) gl At & fa=

(4) JMHR H IRRA & FAM

W <1 peA fay T E

FY I: ST UAH ATP & forg, 4H* Scxiw
W | Fo ¥ 8IaR Soldeidibd Ued Afste &
H AferT dh ST 2

U I1: Fo U 1A= fRreetl WIS diveiad 8 Sl

I 91T & 9 91 1 Ui ofidRe f3reci

B UR B 2 |

SRIGT BT B 3Nl H A fQu v fqwedt #
A I SUYRT SR DI TIT DI

(1) BUF 13X B 11 31 T8 &

(2) B 17TAd ®, <ifhd B 11 98T ©

(3) ®UF [ &l B, afthT B 11 Taid ©

(4) A [ 3R HUF I AT Tead &

A |1 wod Ay MY & TH BT BT (A) TR B
PR (R) S ®U H gl fBar S7ar 2 |

I (A): S0 RFa ifdres 8rfl, S TR W 3=
CHIT B Hey bl FERT B H Bfodrs Ia-r &
3t B |

PR (R): S—3I¥ B STl A ST A 0

S &, U TH1 olefol &7 AT & Bl © |

SWRITT BT b Mclid § = T v faweai #

T Fel SR BT IIT BIoiu—

(1) (A) 3R (R) FI 9 & 3R (R), (A) &1 &
WEHNOT 8T 2 |

(2) (A) I & fd (R) o9l &

(3) (A) 3FT § fdh (R) 9T =

(4) (A) 3R (R) SFI I 8 3R (R), (A) &1 H8
TEEHIT B |
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PART - IV : ZOOLOGY

136. Fill in the blanks from the given characters of | 136. fafe=1 el B AL B MR WR R I+ -
different phyla. [ SohrEl SHel & aa%hl 4 A Bl 2|

II. ARl § B 8T ®, 79 Taws 8l € |

II. Mollusca have a _ B which contain gills. . C & SuRefy Pl B Uh fAfdre faerydr

1. Presence of __ C_ is one of the distinctive =

character of Chordata. IV. URIBRT BT SHGT A D & BRI el 2 |
A,B,C,D® daq # efor—

I. Echinodermata adults have A .

I'V. Porifera got its name due tothe _ D .

Characters with respect to A, B, C, D :- () g aafafy

(1) Radial symmetry (ii) W

(11) Radula . (iii) IR ESIBRT

(%11) External segmentation (iv) eHIPre

(iv) Stomochord (V) YOI, WEell dhald a3t o (CN.S.)
(v) Dorsal, hollow C.N.S. (vi) IR 7 B3 g

(vi) Numerous body pores (vii) Heel &

(vii) Mantle cavity

(1) A-(1); B-(vii); C-(v); D-(vi)

(2) A-(1),(1ii); B-(vi),(vii); C-(iii),(v); D-(vi)

(3) A-(1),(1v); B-(ii),(vii); C(i1),(v); D-(v1)

(4) A-(vi); B-(1v),(v); C-(v); D-(iv),(vi)
137. Choose the correct statement -

(1) A-(1); B-(vi1); C-(v); D-(vi)
(2) A-(1),(i1); B-(vi),(vii); C-(iii),(v); D-(vi)
(3) A-(1),(iv); B-(ii),(vi1); C-(i1),(v); D-(vi)
(4) A-(vi); B-(iv),(v); C=(v); D~(iv),(vi)

137. 98 BT Fri—
(1) ) e SRS 81 € |
(2) It T gut &1 geg Al g 2|
(3) T AFAREH H SgS T8l B |
(4) T PlecT § HIvD AT BT 2 |

138. W Sfig, 5o IRR # dad 7o & B B g,
Sl g9 SR el &Fl @ wY H B bRl ©, fbd

(1) All mammals are viviparous
(2) All reptiles have 3 chambered heart
(3) All cyclostomes lack jaws

(4) All chordates have a vertebral column
138. Animals of which phylum have a single opening to

the outside which serves both as a mouth and as an g 9 defog 2?7
anus (1) widiRfereia  (2) Waeforeiir
(1) Platyhelminthes (2) Aschelminthes (3) SHBRT (4) drérw=T

(3) Ctenophora (4) Porifera
139. What is incorrect regarding cockroach

139. fie@s & IR H HH—W1 HIF Tad 27
(1) AT Aferdrd gRe RIS S Heall ¢ |
(2) SHadi d& o gHlfel s & wead ¥

(1) Malpighian tubules produce uric-acid

(2) Oxygen is delivered to tissues by haemolymph
(3) More than one nymphal stages occur during the
development

(4) Pair of compound eyes together have around
4000 ommatidia

ggadl 2
(3) I & SRME TP 9 ffdd Fhal sravern
Bl 21
(4)§gﬁﬁaaﬁ$ﬁwwu4oooaﬂﬁ%%mwﬁ
|
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140.

141.

142.

143.

144.

Match column I with column II with respect to frog.

Column I Column II
A. Bidder's canal p- Cranium
B. Sinus venosus q. Testes
C. Vasa efferentia r. Heart

D. Foramen Magnum s. Kidneys

(1) A-q, B-s, C-r, D-p

(2) A-q, B-p, C-s, D-r

(3) A-q, B-1, C-s, D-p

4) A-s,B-r, C-q, D-p

The cell types that constitute neural tissue are
(1) Neurons and nephrons

(2) Nephrons and neuroglia

(3) Neurons and neuroglia

(4) Nephrocytes and nephrons

Statement-I: Inhibition of succinic
dehydrogenase by malonate is the example of
competitive inhibition of enzyme.

Statement-I1: Malonate as an inhibitor cannot
bind to the active-site of the enzyme.

(1) Both Statement-I and II are incorrect.

(2) Statement-I is correct but statement-II is
incorrect.

(3) Statement-I is incorrect and Statement-II is
correct.

(4) Both Statement-I and Statement-II are correct.
Which sugars in the given pairs represent a
monosaccharide and a disaccharide respectively
(1) Glycine and Maltose

(2) Galactose and Lactose

(3) Glycerol and Lactose

(4) Glycine and Lactose

Assertion (A) : Alevolar-surface is an ideal
respiratory-surface where gaseous exchange

between the atmospheric air and blood occurs
efficiently.

Reason (R) : Alveolar-surface is not only thin
moist, but is also surrounded by a network of blood
capillaries.

140.

141.

142.

143.

144.

High ¥ Ged H i [ Bl diad 19 Aegu—

D 1 Dl 11
A. s &1 Fel p. SR
B. 9™ 9 d q. U
C. I/ UBNfedm r.gad
D. BREA {9 s. [

(1) A-q, B-s, C-r, D-p

(2) A-q, B-p, C-s, D-r

(3) A-q, B-r, C-s, D-p

(4) A-s,B-1,C-q, D-p

Af®T Saw &1 T R4 arel SIS THR BIF
I

(1) =R 3R A%

(2) THA 3R R

(3) =R AR JRIfern

(4) TS &R Bl

$oH-1: i fSBIgSING &1 ATelge gk
AR USTTgH &l UfaRGelicHd STaRIET &l

SEECEE

HIH-I1: ATAISC Uh JRYS & WU H TollgH &
Al W ¥ el s Fhdl |

(1) EFf BYA-1 3R B 11 7T 2 |

(2) BIF-1 & B, <ifhs HUF-11 TeAd 2 |

(3) BUH-1 T & 3R HUA-11 FET € |

(4) T BUA-1 3R HAH-11 FET 2 |

afaRad SISI § B A IHT T AARIRISS
IR Th SRAPNISS Bl I 27

(1) TSR 3R Heeo!

(2) eraerst iR claerot

(3) FeRRia 3R wlaes

(4) TSR SR wFerst

FU (A) : UfeadTeR A8 b 3MeY I I8 ©
el argHsed ary SR Rad @ 4 R At
FHIAI H BT T |

HROT (R) : UfeadieR a8 & ®ad Udell 3R 97
Bl &, dfed Yad BIRMGRT & Siid 9 okl g
2l
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145.

14e.

147.

148.

(1) Both (A) and (R) are correct but (R) is not the
correct explanation of (A).

(2) (A) is correct but (R) is incorrect.
(3) (A) is incorrect but (R) is correct.

(4) Both (A) and (R) are correct and (R) is the
correct explanation of (A).

Partial Pressures (in m.m. of Hg)
Gas | Deoxygenated | Oxygenated | Tissue
blood
0O, 40 B 40
CO; A 40 C

Choose the correct option to be filled in A, B, C.
(1) A-40,B-95, C-40

(2) A-45,B-95, C-45

(3) A-104,B-95, C-45

(4) A-45, B-40, C-45

Haemoglobin pigment participates in transport of
which respiratory gases -

(1) Both O, and CO transport
(2) Only O, transport

(3) Only CO transport

(4) Only N, transport

Lymphatic system is an elaborate network of
vessels which collect the

(1) Interstitial fluid

(2) Seminal plasma

(3) Blood

(4) Haemolymph

Match column I with column II.

Column I Column II

(Event) (Total duration)

A. Ventricular p. 0.4 sec.
diastole

B. Joint diastole q. 0.8 sec.

C. Atrial diastole r. 0.5 sec.

D. Cardiac cycle s. 0.7 sec.

145.

146.

147.

148.

(1) (A) 3R (R) GFI HEI & olfdh (R), (A) BT AEI
IR TEl B |

(2) (A) FET & Afdh (R) AT 2 |

(3) (A) TTera & oI (R) &I B |

(4) (A) 3R (R) Tl F& § 3R (R), (A) & &
ARAT T |

3P T4 (in m.m. of Hg)
Gas | Deoxygenated | Oxygenated | Tissue
blood
(0)) 40 B 40
CO> A 40 C

|l f[adbeu g+ S A, B, CH ¥RT SITQT—

(1) A-40, B-95, C-40

(2) A-45, B-95, C-45

(3) A-104, B-95, C-45

(4) A-45, B-40, C-45

SRS quidh fobT TaRa=T 1 & URagd # 91T
ST 27

(1) 02 3R CO, Tl &1 gRaET

(2) ®ad O, BT URTE

(3) ®aal CO HT ulRag+d

(4) DI N, BT gRaET

g@’cﬁr Uollell U SIfcel -iedd ©, Sl Ydbd odl
(1) SRR TR

(2) 911 ST

(3) X

(4) S

B [ DI Bicd 110 gy

i [ DicH 11

(Event) (Total duration)

A. e Rifsred p. 0.4 sec.

B. Wgad Rifdre  q. 0.8 sec.

C. anfer= fRIfere™ r. 0.5 sec.

D. dIfsd®d ah s. 0.7 sec.

Space for rough work
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149.

150.

151.

152.

(1) A-p, B-s, C1, D-q
(2) A-,B-s, C-p, Dq
(3) A-s,B-q, C-p, D-r
(4) A-r, B-p, C-s, Dq

A valves close at the start of ventricular diastole
which produce heart sound _ B . Choose the
correct option for A and B respectively.

(1) A= semilunar, B=Dub
(2) A=semilunar, B=Lubb
(3) A=AV —valves, B=Dub
(4) A= Mitral valve, B = Lubb

Statement-1: Main function of platelets in blood
is to produce chemicals that help in blood clotting.

Statement-II: Serum can be defined as blood
without clotting factor.

(1) Both Statement-I and II are incorrect.

(2) Statement-1 is correct but statement-II is
incorrect.

(3) Statement-I is incorrect and Statement-II is
correct.

(4) Both Statement-I and Statement-II are correct.

Assertion (A) : Wall of arteries have thicker
muscle layer than in the wall of veins.

Reason (R) : The valves in arteries are supported
and regulated by the underlying muscles.

(1) Both (A) and (R) are correct but (R) is not the
correct explanation of (A).

(2) (A) is correct but (R) is incorrect.
(3) (A) isincorrect but (R) is correct.

(4) Both (A) and (R) are correct and (R) is the
correct explanation of (A).

Congestion of lungs is the main symptom of the
following condition

(1) Cardiac cycle
(2) Heart fail

(3) Emphysema
(4) Silicosis

149.

150.

151.

152.

(1) A-p, B-s, C-r, D-q

(2) A-r, B-s, C-p, D-q

(3) A-s,B-q, C-p, Dr

(4) A-r, B-p, C-s, D-q

_A g diHeR SRS &1 YWIAW H d8 8l
S €, R g9g @@t B SO Bl B | 8
famen -

(1) A=3ETaT®HR, B = Dub

(2) A=3ETaTHR, B = Lubb

(3) A=AV —dred, B = Dub

(4) A=Tgel d1ed, B = Lubb

HUA-I: 390 H ©Iceicd Pl & S G D AdD
g9 H HE® AT BT AT BRAT B

HIF-11: WRA DI AFHRIiRT Iad B wY H IR
far S godr 2|

(1) S HUF-18IR B 11 TeTd 2 |

(2) HUF-1FE T AfBT HYA-I T B |

(3) BUF-1 T & Afh BAA-11 T2l B |

(4) THT BUA-1 3MR-11 LY 2 |

P (A) : TARD B QaRI DT U wa R

@ gor # AT Bl €

PR (R) : T91 # ared - Rerd Arul¥nat g

AR 3R a3 =i £

(1) (A) 3R (R) IFI Fa&l & olfdd (R), (A) &1 A&
RAT el B |

(2) (A) W& & AfhT (R) oI 2 |

(3) (A) TeTd B oIfdhA (R) W& 2 |

4) (A) 3R (R) SFT W& 8 3R (R), (A) I FAT
T 2 |

hhsl H Riged MefoRad § 4 fa Rafd @t

T e 27?

(1) <9 9%

(2) BT fatherar

(3) THERTIRITHT

4) RaferaiRm

Space for rough work
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153.

154.

155.

156.

157.

Kidney's ability to produce concentrated urine
depends on

(1) Filtration process

(2) Active reabsorption of glucose/nutrients
(3) Counter current process

(4) Active secretion of H" ions

Higher rate of urine formation and presence of
glucose and ketone bodies in person's urine indicate
the following disorder

(1) Diabetes mellitus
(2) Diabetes insipidus
(3) Renal calculi

(4) Glomerulo nephritis

The sensory signals for micturition reflex originate
from -

(1) Hypothalamus

(2) JGA

(3) Medulla oblongata

(4) Stretch receptors of bladder

Pick true (T) and false (F) statements.

A. Land insects and land snails excrete urea.
B. All birds are uricotelic.

C. All mammals are ureotelic.

D. Aquatic invertebrates are ammonotelic.
(1) A-F, B-T, C-F, D-F

(2) A-T, B-F, C-T, D-T

(3) A-T, B-F, C-F, D-F

(4) A-F, B-T, C-T, D-T

Statement-I: One can determine the rate of heart

beats by counting number of QRS-complex per
unit time.

Statement-I1: AB type of blood group lacks
antibodies against A- and B-antigens.

(1) Both Statement-I and II are incorrect.

(2) Statement-I is correct but statement-II is
incorrect.

(3) Statement-I is incorrect and Statement-II is
correct.

(4) Both Statement-I and Statement-II are correct.

153

154.

15S.

156.

157.

e B Aiad I3 999 B eFrr fha w® R

BT B2

(1) F=aie= ufehan

(2) DI /U Tcdl DI Alhd -7

(3) Ufyarg ufshar

(4) H* 3l &1 afeha ard

3ffers qF T &R IR 43 H Tl T dieH

el o SuRefa fed fAer @1 gl 87

(1) 7w wfered

(2) "gHE FIUSY

(3) T T

(4) TAHSAl AmEfed

?@W gfgd @& A< Habd del F S B

%

(1) BTSUerHs

(2) JGA

(3) AT AleATIET

(4) TER & Raga arE

A (T) 3R 3Tl (F) Bl BT T Pr—

A. gwaﬁesﬁ??waﬁqﬁmwﬁﬁmﬁ
|

B. &I uell gR&icfard 8d € |

C. a1 e gRAefers g €|

D. STelld IHAHd! A Id B B |

(1) A-F, B-T, C-F, D-F

(2) A-T, B-F, C-T, D-T

(3) A-T, B-F, C-F, D-F

(4) A-F, B-T, C-T, D-T

PUA-1: TaT DI IS DI & DI QRS-SICeAar &l

AT B ufd sHrs ang # feax FuilRa fear

ST DT 2 |

FHF-11: AB UPHR & & A8 1 A 3R B GEIoH &
foeg et T8l Bl |

(1) M HIF-1 3R B 11 Taid 2 |

(2) HUA-1 T8 & AfhT HUA-I1 Tad B |

(3) BUF-1 T § AfhT HAF-11 T2 B |

(4) SFI HUF-1 3MR-11 T2 & |

Space for rough work
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158.

159.

160.

161.

162.

In a myofibril, the central part of thick filament
which is not overlapped by thin filaments is called

(1) A-band

(2) H-zone

(3) Sarcomere

(4) M-line

Which of the following is not a cranial bone

(1) Sphenoid

(2) Ethmoid

(3) lacrymal

(4) Parietal

Match column I of sketelal parts with column II of

number of bones present in humans —
Column I Column II
A. Floating ribs p. 14

B. Cervical vertebrae q. 7

C. Facial bones r. 6

D. Ear ossicles s. 4

(1) A-s, B-p, C-q, D-r

(2) A-1, B-p, C-q, D-s

3) A-s, B-q, C-p, D-r

(4) A-r, B-s, C-q, D-

For initiation of the contraction of a skeletal muscle

fibre one of the following condition is most
essential

(1) Sub-threshold stimulus

(2) Release of calcium ions from sarcoplasmic
reticulum into cytoplasm

(3) Entry of calcium ion from cytoplasm into
sarcoplasmic reticulum

(4) Release of oxygen from myoglobin

Afferent nerve fibres carries impulse
(1) from effector to C.N.S.

(2) from receptor to C.N.S.

(3) from C.N.S. to receptors

(4) from C.N.S. to muscles

158.

159.

160.

161.

162.

Eﬁéﬁ'ﬂw\—rﬁqﬂﬁ
I R PET 27

Udh ARG W, A dg

(1) A¥s

(2) H-STH

(3) ATHIFRR

(4) M-<re

fFfaRad 3 & B9 W T DA ST TE 87
(1) whIgs

(2) THIES

(3) oifshAat

(4) URyea

AME IRR H SuRerd sfesdl & 9@ & JJAR
DI [ & BB MR 6T Diad 11 A -

i 1 e 11
A. AT g¥fordt p. 14
B. a1 &erod! q.7
C. o ¥t aiRerdt 1.6
D. &vf 3rRerdt s. 4

(1) A-s, B-p, C-q, D-r

(2) A-r, B-p, C-q, D-s

(3) A-s, B-q, C-p, D-r

(4) A-r, B-s, C-q, D-p

DHHTAR U & Hpad @l Fod & foy
RrferRac 3 & BI 6 ReRY wawl amavads &2

(1) SU—TMce IgaTa
(2) HTRIATHD fCHeH | DIRTBIES H bicgdH
JIRAT BT ekl
(3) AIECITod | ATh AT TS
I BT U

(4) ARSI ¥ iAo &7 gad e
TR GBI g AT Bl Hal o Sl &2
(1) SHFR A CN.S. Th

(2) R¥<x | CN.S. d®

(3) CN.S. & R¥eR a&

(4) CN.S. & 7iqufldral a&

feqpem |

Space for rough work
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163.

164.

16S.

166.

Statement-I: Aortic-valves and Atrio-ventricular
valves prevent mixing of oxygenated and
deoxygenated bloods in human heart.

Statement-II: Chorda-tendinae prevent eversion
of the flaps of atrio-ventricular valves.

(1) Both Statement-I and II are incorrect.

(2) Statement-I is correct but statement-II is
incorrect.

(3) Statement-I is incorrect and Statement-II is
correct.

(4) Both Statement-I and Statement-II are correct.

During impulse conduction on axon membrane, the
depolarised stage is maintained until

(1) Gates of K* - channels close
(2) Gates of Na* - channels open
(3) Gates of K" - channels open
(4) Gates of Ca*? - channels close
Match column I with column II.
Column II
A. Hypothalamus  p.

Column I
Increases blood pressure

Detects increased
osmolarity of blood

B. Aldosterone qg.

C. Atrial natriureticr. Decreases blood pressure
factor

D. Henle's loop s. Urine concentration by

counter current
(1) A-q, B-p, C-1, D-s
(2) A-s, B-p, C-r, D-q
3) A-q, B-s, C-p, D-r
(4) A-1, B-s, C-p, Dq

Which areas of cerebral cortex are related with
complex functions like inter sensory association,
communication and memory

(1) Association areas
(2) Sensory areas

(3) Cerebral aquaduct
(4) Thalamus

163.

164.

165.

166.

HU-I: HEHAT dled IR UfgAi—dfeamer ared
qg g9 H SATRITST gad 3R SIaffaire gad
Iad @ fAsTor B A B |

DYA-II: Biel el UeA—dfidgheR ared & Foiw
B I B Idd B |

(1) THF FHUF-131R FHUF 1 Teid & |

(2) BUA-1 T8 & AfhT HUA-I1 Tad ¢ |

(3) BUA-1 AT & oAb HUA-11 T 2 |

(4) S BUA-1 3R-11 TEY 2 |

T fereell WRSMAY Hagd & aRM, fagfad
3T e TP a1 B 57

(1) K* 91 & gR 91 8 db
(2) Na' 99d & §R G dd
(3) K" 99 & gR gaold a®
(4) Ca?2a9d & gR §¢ 8 dd

BictH [ Hic I W AarsT |

DicH I Pl 11

A. TEAYAHT  p. XTI gTCT @

B. UcSIRIA q. I @l 91 g
YRIARUIIAT T YT ST

C. ufgga r.  IIIT HH Rl ©

Afggfed thaex
D. gel U s. BI¥ER HRC B HRIH |

T3 B ATfsd T 8
(1) A-q, B-p, C-r, D-s
(2) A-s, B-p, C-r, Dq
(3) A-q, B-s, C-p, D-r
4) A-r, B-s, C-p, D-q
HE HOR IR Fa 9 Heed 8?
(1) 9 &
(2) HIS &=
(3) RS YhreSaT
(4) demE
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167.

168.

169.

170.

171.

Somaclonal variations are naturally obtained by
(1) Hybridization between organisms

(2) Denaturation of proteins

(3) Tissue culture

(4) Artificial insemination

Assertion (A) : Chitin is a complex heteropolymer
biomolecule.

Reason (R) : Chitin is composed of sugar units
containing nitrogen.

(1) Both (A) and (R) are correct but (R) is not the
correct explanation of (A).

(2) (A) is correct but (R) is incorrect.
(3) (A) is incorrect but (R) is correct.

(4) Both (A) and (R) are correct and (R) is the
correct explanation of (A).

The only excuse may be ignorance and it has been
rightly said — "don't die of ignorance", this
statement is for

(1) Typhoid
(2) Malarial fever
(3) HIV infection
(4) Cancer

Which of the following is a popular cloning-vector
among biotechnologist

(1) pBR 322
(2) EcoR1
(3) Sal-1

(4) BamHI

Post ovulation, the broken pieces of graafian
follicle in the ovary re-organise into a yellowish
A structure which starts the secretion of B

hormone. Choose the best option to fill A and B
blanks

(1) A= Corpus luteum; B =FSH

(2) A= Corpus callosum; B=LH

(3) A= Corpus albicans; B = Progesterone
(4) A= Corpus luteum; B = Progesterone

167.

168.

169.

170.

171.

ArTFe fafdran w@rfas w9 9 feas gRr

T Y ST 87

(1) STat & & FHROT

(2) WIS BT IqecH

(3) SHad Aaed

(4) BEM TE

g‘eﬁ(A) : PI3eA T Sifeel fAwH ageld Sa—ar]

I

PRI (R) : PSS H ASSISH Jad ADRT gHhISAl

BT 2 |

(1) (A) 3R (R) GFI W&l T olfdhd (R), (A) BT HET
AT T8 B |

(2) (A) T8 & AAfb (R) Tad 2 |

(3) (A) TeId 2 ofbT (R) W& R |

(4) (A) 3R (R) Al F& & 3R (R), (A) &1 42
AT B |

“ITLITIAT & BIROT Jeg AT 8 U8 B b oy

fear a7 27

(1) cIs%igs

(2) FRaT gER

(3) HIV HzH01

(4) B

frfaRea § 9 o9 So-u=ife facl « 9=

Uh ATBT FAIT—dder 87

(1) pBR 322

(2) EcoR1

(3) Sal-I

(4) Bam H I

IS @ 918, Wb YfeH & < §U Ths

3SR H YT WA R Y Ulel [T P

AT 91 8, Sl B EMM & 9@ &I LS

FAT 2 |AARB S ol |el f[ddbey g+:

(1) A="9 gfeaw; B = FSH

(2) A=FUH BIAgH; B=LH

(3) A=PHUT Ufedd=d; B = UToReI™

(4) A=A gfcTH; B = ORI

a9
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172.

173.

174.

175.

176.

Match column I items with column II source.

Column I Column II

A. Biogas p. Monascus purpureus

B. Clot buster q. Trichoderma polysporum
enzyme

C. Statins r. Methanobacterium

D. Cyclosporin-A s. Streptococci

(1) A-p, B-r, C-q, D-s

(2) A-r, B-s, C-p, Dq

(3) A-r,B-q, C-s, D-p

(4) A-s, B-p, C-q, D-r

Artificial insemination (Al) employs
(1) No fertilization

(2) In vivo fertilization

(3) ZIFT

(4) In vitro fertilization

Fish used in biological control of the insect vector
of Plasmodium parasite is

(1) Hilsa

(2) Exocetes

(3) Hippocampus

(4) Gambusia

Ability to adaptation of organisms is their
(1) Non inheritable trait

(2) Heritable, genetic trait

(3) Acquired trait

(4) Struggle for existence

Statement-I: Common cold caused by Rhinovirus
never affects lungs.

Statement-II: Humoral immunity is provided by
B-lymphocytes.
(1) Both Statement-I and II are incorrect.

(2) Statement-I is correct but statement-II is
incorrect.

(3) Statement-I is incorrect and Statement-II is
correct.

(4) Both Statement-I and Statement-II are correct.

172.

173.

174.

175.

176.

hict® [ BT BIad 11 AersT:

Dl I DicH 1T

A. RN p. TR GG

B. Tilc q¥X q. CTRBISH GilervaRg
SIEL]

C. wfe= . HeTeaeRaT

D. ASFAUIRA-A s. CCIBIFBT

(1) A-p, B-r, C-q, D-s

(2) A-r, B-s, C-p, D-q

(3) A-r,B-q, C-s, D-p

(4) A-s, B-p, C-q, D-r

P T H A T

(1) fres =&

(2) IR D 33 fv=

(3) ZIFT

(4) TRR & e uET

HSTH URSIdl @ dTed dic & Sifdd h=or
H Ugad "ol o—

(1) feerar

(2) YFFIBHT

(3) =T

(4) Tgfrr

Sal @Y et &FdT Sd! B &

(1) JFAIRID wY H IR—RRAT H e aTer Fefor
(2) JAARS WU A faRTEd H e arer e
(3) Tifa T

(4) eaca & forv Foy

P -1 : VEAGRRE §RT BM Tl A
HI—SJBTH B BBl Bl YHIad &l bl |

HU -1l : BRI B={owharsed gRT
Y& &I S B |

(1) S HUF-1 3R B 11 TeTd 2 |

(2) HUA-1 T8 & Afh HUA-I1 Tad B |

(3) BUF-1 T § AfhT HAA-11 T2 B |

(4) SFI HUF-1 3MR-11 T2 & |

Space for rough work
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177.

178.

179.

180.

The phenomenon of elimination of a gene/allele by
chance factors from a small population is referred
as -

(1) Selection pressure
(2) Adaptation

(3) Genetic drift

(4) Natural selection

The hormone that regulates basal metabolic rate
and controls the metabolism of carbohydrate,
proteins and fats is -

(1) Adreno corticoids

(2) Vasopressin

(3) lodine containing hormone

(4) Thymosin

Excessive dosage of cocaine causes
(1) Hallucination

(2) Anaesthetic effect

(3) Mental depression

(4) All of these

One of the following is not related to passive
immunity

(1) Colostrum

(2) Antivenom serum (Antitoxin)
(3) Anti tetanus serum

(4) Oral Polio Vaccine (OPV)

177.

178.

179.

180.

fodl BIC S W 9 AarEw  faEsd
?/W@Wﬁaﬁmﬁwm
(1) =¥ <arg

(2) 3R

(3) srgdfre gare

(4) TTpferes T

g B Sl MUY SUTIed ) &l R &xar
2 3R eElEese, WAF Ud a9 & SUI= Dl
fof3rd dear 8 —

(1) Tl DifchIzea

(2) aAURE

(3) RS gad e

(4) AR

PP DI JIDD HAT o9 T RIT YATT BT 87
(1) AferyH

(2) HIGATERT UHId

(3) AFRTS AT

(4) SURIGd aH

fr=faRad 5 | @9 a1 Aftey uftren o wsfia
8l &7

(1) PIeiregH

(2) VA=A ¥RA

(3) TSI cedaw HRA

(4) 3R Tiferar da=i= (OPV)
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V"3 (D) NARAYANA | JAPUR

BRI R (N nT-JEE/NEET/FOUNDATION | CENTER

NARAYANA JAIPUR STUDENTS DOMINATE IN 2025

Join the Proven System of NARAYANA JAIPUR CENTER for
JEE (Main+Adv) | NEET | Foundation

Powered with Top Level Mentorship & Genius Faculties

Narayana Jaipur STARS OF 2025 So Far (..many More Coming)

JEE (Main) 2025 session-| 2 International Olympiad (St-11) 2025

CTY TOPPER  2nd CITY TOPPER

JAIPUR JAIPUR
&RAJL STATE TOPPER

100 99.99

Percentile Percentile

Selections for Stage-3
Orientation Cum
Selection Camp (OCSC)

Indian National Olympiad (INO) 2025 Qualified

As per result declared by HBCSE & Nehru Science Center, NCSM on 05-03-2025

Selected T3

GOLD MEDAL for India
in IJSO'2024 Selected

in INDIA'S

Selected
in INDIAs
International Junior Science Olympiad-2024,
Held at Bucharest ROMANIA (2 to 12-Dec., 2024)

BHAVYAA GUNWAL

Yearlong Classroom Student (CO-SPARK Batch)

AYUSH SINGHAL
MPS

Regular Classroom

Srilal Convent Jayshree Periwal G.S. Cambridge Court

A 1.1_.

N %) L

il A ezl QN
L SPARSH GUPTA .. LAVADHHINDOCHAJ L MRIGANK GOEL J L TANISHAK YADAV ] LSHASHANKSHARMAI I_SAMSHREYASJOSEPHJ

Further AlRs in Top 1000 : 116 (Prabuddha Sinha), 149 (Visharad Srivastava), 161(Mayukh Chowdhury), Further AlRs in Top 1000 : 181(Atishay Jain), 316 (Krish Jain), 340 (Somya Garg),
168 (Abubakar Siddique), 303 (Shrey Nayakpara), 318 (Srutarshi Tripathi), 339 (Yash Vashisht), 354 (Aradhana R), 350 (Dhruv Awasthy), 380 (Akshat Mishra), 562 (Ashvin Sharma), 606 (Purvika Singh),
360 (Kathan Shah), 375 (Pratham Srivastava), 384 (Tushar), 448 (Vivaan Goswami), 543 (Shaurya Pratap), j 616 (Shreya Jain), 666 (Surya Charan D), 681(Tanmay Singhal), 786 (Amogh), 966 (Chhavi Jain)
569 (Akshat Khandelwal), 591 (Shourya Agarwal), 809 (Sagarika Sinha), 881 (Ishwin Kumar), 973 (Muthu S)  «. (A|| Scored 700+)

N
(* All these are Narayana Jaipur Center’s InfinlITy SRG batch students Q (* All these are Narayana Jaipur Center’s Regular Classroom students of RT-720 Course
who attended online night classes by top faculties to boost rank in JEE (Adv) 2024) (Nov'23 to May’24) for NEET 2024)

This very first student group result has proven the power of Top Level Mentorship, Genius Faculties and Excellent System at Narayana Jaipur Center

For any enquiry or assistance, call 0141-4848000

€ www.narayanajaipur.com &} ntsc.narayanatalent.com (XX jaipur@narayanagroup.com SUNDAY OPEN




BATCH STARTING DATES

Moving to Class 6,7,8,9& 10
Starting: 02 & 09-Apr, 2025

Moving to Class 11" (JEE/NEET)
Starting: 26-Mar & 02-Apr, 2025

Moving to Class 12" (JEE/NEET)
Starting: 19-Mar, 2025

Appeared-in/Passed Class 12 (NEET)

Starting: 09 & 16-Apr, 2025
120t Ut f&<t aream NEET s geres o=t 11-Jun@

Appeared-in/Passed Class 12 (JEE)
Starting: 23-Apr & 07-May, 2025
* Separate Batches for JEE & NEET as per New Education Policy (NEP)



